Question Paper Title : TAIT_PAPER_31

Date of Exam : 2017-12-18 16:00:00

1 Out of the given four words only one is spelt correctly. Find the word that is correctly spelt.

A.Glamorous
B.Goverment
C.Gaurd

D.Gaarantei

Answer: A.Glamorous
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In a row of girls, Shilpa is 8th from the left and Reena is 17th from the right. How many girls are there in
the row?
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A.25
A.25
A.25

B.27
B.27
B.27

C.29
C.29
C.29

D.24
D.24
D.24

Answer: D.24
D24
D.24



3 (1,3, 5, ....47) B¢A P §&11 fAasd, (x - 2) (x - 7) (x - 5) (x - 47) = 0 & FHIHI0 P Guf HR0greh GHTd

A number P is chosen from {1, 3, 5, ....47} the probability that P salisfies the equation (x - 2) (X - 7) (x -
5) (x-47)=0is
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A.1/8
A.1/8
A.1/8

B.1/6
B.1/6
B.1/6

C.1/3
C.A3

C.1/3

D.1/5
D.1/5
D.1/5

Answer: A.1/8
A.1/8
A.1/8
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DIRECTIONS: Study the following information carefully and answer the questions given below:

P,Q,R, S, T, Vand W are seven participants in a seminar. There are three students, two Lecturers and
two assistants among them. They work in three different groups |, Il and lll. In each group there is one
student and at least one Lecturer or one assistant. S is a student and is in group Ill with P, an assistant.
The other assistant is in group | with only T. V, a student works with Q who does not work with W.
Lecturer W does not work with R.

If R is transferred in group Il and P is transferred in group |, then which of the following statements will
be true?
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A.11-T1 TIETd $des G He T 3l
A.There will be only two participants in group |

A SIS uselSyb 50 a e

B.1-91 TTTTd diF Ig Il i,

B.There will be three participants in group |
B.gs S | B U elS 0l o e

C.11-91 TeTd diF JeHTil 3.

C.There will be three parlicipants in group |l
C.ca S B Uy el8 58 56 e

D el Ut Uhd HTH Hdld.

D.Both assistants will work together
D. 5 (2S4S s S O glaa U yig

AIl-T1 TeTd $dsd G GeHI 3did
A.There will be only two participants in group |
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DIRECTIONS: In the following question, four/five figures are given. Three fourare similarin a certain
way and so form a group. Find out which one of the figures does not belong to that group.
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A. (A)
B. (B)
C. (C)

D. (D)

D. (D)

Name the famous ‘one-horn rhinoceros’ wild-life sanctuary in Asom.
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A HHY
A.Manas
A. plia

B.HISNAT

B.Kaziranga
B. B8

CiR®RE

C.Gir Forest
C. & £

D . FTal-fhl
D.Kanha-Kisli
D. L& Las
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B. TR

B.Kaziranga
B. 54 5l
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. H>|
ILI=F

DIRECTIONS: In the question given below, there are few statements followed by few conclusions. You
have to take the given statements to be true even if they seem to be at variance with commonly known
facts and then decide which of the given conclusion logically follow(s) from the given statements.

Statements:
H<J=KsI<F
Conclusions:
|.H>|

H.I1=2F
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A | sy 3o Sl
A.Only Conclusion | follows
A~ G pal U S (55

B.%ad || ey 3o il

B.Only Conclusion Il follows
B.~asii i uall 2GS g0

c.| forar 11 g ua Apd 3@ wal

C.Either Conclusion | or || follows
Cl sl 2 US Gaon S e lS
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D.Neither Conclusion | nor |l follows
D.1 sl ES G 508 o P55 o e 8

Answer: D.1d |l g Qlelg! (A5hY FHIUN HRId ATRId

D .Neither Conclusion | nor |l follows
Dol LSl ES Gon Gsom o2 &85 0 oo

8 SR A, B. C. D 3101 E 8 U Hi®P 3iTg of A:B=2:3. B:C=3:5. C:D=5:7 3H10I D:E=7:11 I YHIUIT 3{Tg. d
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If A, B, C, D and E are five numbers such that A:B=2:3, B:C=3:5, C:D=5:7 & D:E=7:11. Find A:E ?

KIABC D Sy E S b ool gz e zils AB=2:3¢ B:C=3:5:C:D=5:7 _s D:E=7:11 S5 AE 05 pslee

A.2:11

A.2:11
A.2:11

B.1:2
H.1:%
B.1.2

Y37
C.a7
B T

D.5:1
D.5:1
D.5:1

Answer:. A.2:11
A.2:11
A.2:11
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A. HTT 3134 IETE SIq01 g4dd

B. HIAT 3154 IGE oidu §99d ATe!

C. HIZd1 SIqund 3ffaived 9 9rdad 3HTg.

D. HIAI SquiTd fdiad dis grdad Arel

DIRECTIONS: Each question has a main statement followed by four statements labelled A, B, C and D.
Choose the ordered pair of statements, where the first statement implies the second, and the two
statements are logically consistent with the main statement.

If my mother cooks dinner , she garnishes extra cheese for me .
A. my mother cooked the dinner

B. my mother did not cook dinner

C. My food is garnished with extra cheese.

D. My food is not garnished with extra cheese.
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A.AB
A.AB
A.AB

B.BC
B.BC
B.BC

C.DA
C.DA
C.DA

D.DB
D.DB
D.DB



Answer. D.DB
D.DB

D.DB

11 Ui 3ifvas dd Sl WdIad $al?

Who proposed the Atomic principle of matter?

€S Uit 3 S el K 1S e

A Uhd
A_Pascal
WL E

B.SlccH
B.Dalton

C.eA
C.Newton

C.00ss
D.3[ERTS

D.Avogadro
D.s 38,

Answer: B.slecH
B.Dalton

B.o i3

12 Fill in the blank with the correct article.
He has honest face.

A.an
B.a
C.the

D.No article required

Answer: A.an
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A cube is painted and cut into 512 smaller but identical pieces by making the minimum possible number
of cuts. What is the minimum number of cuts required to cut a cube?
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A.18
A.18
A.18

B.21
B.21
B.21

C.24
C.24
C.24

D.15
D.15
D.15

Answer: B.21

B.21
B.21
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DIRECTIONS: Study the following information carefully and answer the questions given below:

P,Q R, S, T, Vand W are seven participants in a seminar. There are three students, two Lecturers and
two assistants among them. They work in three different groups I, Il and Ill. In each group there is one
student and at least one Lecturer or one assistant. S is a student and is in group IIl with P, an assistant.
The other assistant is in group | with only T. V, a student works with Q who does not work with W.
Lecturer W does not work with R.

In which group do three of them work?
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A.FHAD |
A.Only |
A< a

B.$da ||

B.Only |l
B.— »=all

C.Hda |l
C.Only |l
C.ija lll

D.&das || fdar
D.Only Il or Il
D.i ja Il U |1

C.Hda |l

C.Only 11l
C.iua Il
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A. T4 foF ferges sradrd.

B. BIUdIa! folde Tbaier 994,

C. ®lel Tbaic} galdIPR Sdld.

D. Tl fauey fauM 3 dr.

fAhy:

|. DIUIdTe! o1 TEheier A9,

||, B! eAIPIPR Thaey A9dId.

. BTal foA faAM 3rgdTd.

V Blg] gAllpIPR TEhacy 3dId.

DIRECTION: In each of these questions a few statements are followed by four conclusions numbered |,
1, Il and IV Consider the given statements to be true even if they seem to be at variance with
commonly known facts. Read all the conclusion(s) and then decide which of the given conclusion(s)
logically follow(s) from the given statements.

Statements:

A. All stairs are lifts.

B. No lift is an escalator.

C. Some escalators are helicopters.
D. Some lifts are planes.

Conclusions:

|. No stairs are an escalator.

Il. Some helicopters are not escalators.
lll. Some stairs are planes.

IV Some helicopters are escalators.
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Answer:

17

B.Hdes Aspy | 101 UhaR || fhar Iv Rud S,
B.Only | and either Il or |V follow

Bajal sL_idllLIVn SS 6

C.UhaR [Fsey || fdar Iv Aad e,
C.Either |l for IV follows

C.5LlluV =L S 6 y)m

D .$dos fspy | 111 fbar Iv [Y9d 3T,
D.Only |, lll or IV follows

Diciea e 1L IV = U S (55

B.&des AspY | HI0r Uhar || fhar Iv Rud s
B.Only | and either |l or IV follow

Bdijal S4 sl LIV on SS cson

4380 +12x8=7
4380 +12x8="7

4380 +12x8="7

A.2720
A.2720
A.2720

B.2925
B.2925
B.2925

C.2825
C.2825
C.2825

D.2920
D.2920
D.2920

D.2920
D.2920
D.2920
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B.glS
C.fa=di
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Answer: C.fa=4t
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Answer: D. ¥l
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DIRECTIONS: In each of the questions, four groups of letters, words or numbers are given.

Find the odd one out.
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S U6 S S

A.3425
A.3425
A.3425

B.5229
B.5229
B.5229

C.8064
C.8064
C.8064



D.6057
D.6057
D.6057

Answer: A.3425
A.3425
A.3425

20 3121 19 AT JUr=an e 2T <41 ufgearaan guie, ga=amae fawe sifor fag=amien 9r ue 3ired,
il a9 191 318

Find three consecutive numbers such that twice the first, three times the second and four times the third
together make 191.

-3 )i S 191 mW‘SUgJ‘%"S,,__}mﬁJ_,T‘dg;}eh'ls,f_yﬁaugfliclﬁ,.SLHJSe_,lu:l:c.l,_luLuCu_.gIJg

A.19, 20, 21
A.19, 20, 21
A.19, 20, 21

B.21, 22, 23
B.21N2, 23
B.21, 22, 23

20,21, 22
G20, 21, 22
C.20, 21, 22

D.22, 23, 24
D.22, 23, 24
D.22, 23, 24

Answer:. C.20, 21, 22
.20, .21, 22
C.20, 21, 22
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Symptoms like worrying unnecessarily and being apprehensive constantly about the future and other
things can be seen
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A.GAD
A.GAD
A.GAD

B.ADHD
B.ADHD
B.ADHD

C.PTSD
C.PTSD
C.PTSD

D.OCD
D.OCD
D.OCD

Answer. A.GAD
A.GAD
A.GAD
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a_ab__bc_a_cd_

DIRECTIONS: In each of the following letter series, same of the letters are missing which are given in
that order as one of the alternatives below it.

a_ab__bc_a_cd_

=t S e R S i calid (SO S o eal 8 Gija (J5S ae g om i S dis

a_ab__bc_a_cd_

A.abcabc
A.abcabc
A.abcabc

B.bcadbe
B.bcadbe

B.bcadbe

C.bcabca
C.bcabca
C.bcabca

D.bacbac
D.bacbac
D.bacbac



Answer: B.bcadbe

B.bcadbe
B.bcadbe
= e TaEmEdY FTH FFA FET FFAY FYS Taad Hg?
Which of the answer figure 1s exactly the muror image of the given figure?
T e el 2 "--:-Jw SN S gl S 03 ideal o 0 S Sla>
HET IFHd!
Main Figure

FeaTETST gAY HTH AT

Answer Figure

A (S e
N ANEEXEEX

A8
A B C D

A. (A)

B. (B)

C.(C)

D. (D)

Answer: A. (A
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ga1: 31Yqu u=de (A sRuagrndl, @l feeedt (P), (Q) (R), (S) 3101 (T) 81 U a1 IRy 3shHM
JARIA] BR1; iR Gleiid Uyl IR 1.

P. ASAMHIMTIA! TTed GUATd 3M14H &d IdR DleglF AT SidgH ¢ugrd! fa-dt de.
Q. TMediaR didl HesfacaHar Rig dicgnaal 3ol ARG 310l GrYiAR] Wi eTbdl.

R. TTed 10l Bicel & Gd 13 Udh1 STdrd 3id MYTITETa! STdTd.

S. 7 RigTeRIsR Picg! 3 SIUSUl Medidl Bidd Udh] Jedid Usdld.

T. STdTd SITdHT, diFT @& S ugre] 3(98H dred [Rig 31sdl I,

TR SAHGR Ddiadd! DIvd a1 Urdd 8a?

DIRECTION: Rearrange the following five sentences (P), (Q), (R), (S) and (T) in the proper sequence to
form a meaningful paragraph; then answer the questions given below them.

P. The cunning fox promises the lion that he can have the ass for dinner, but asks that his life be
spared.

Q. As soon as the ass was secured, the lion jumps at the fox, killing it for its meat and ends up having
both.

R. Two partners, the ass and the fox, go to a forest to find food.

S. So, together the lion and the fox trick the ass and make him fall into a pit.

T. On their way to the forest, they meet a lion who wishes to eat both.

Which of the following should be the FIFTH sentence after rearrangement?

usles b ol (P)e (Q)¢ (R)¢ (S) s (T) Lsllsne 8 £ 5 a5 Here iann i oy A S s Jea b S
R S

P22 3sen ol OS¢ LS S i 55 SWSexcy il 35ad (2,

Q. 1 e S s 0yl ke A Sl S s (o s5as) Jad e S s il o,
R. B A S S35a3US gse fia ¢ 5030 Hyl ppdcuags g

S. el S S JBEB ) (Sda S sl S jaa S S5ed ol sk s
T 8 s LS S 5ign o) g De ad ) oS00y Sla S,

¢ 1. 3 3 PP y (44 13 2 o
.d%uﬁnﬂgﬂdn;udﬁlqr";f 33 L1l 10 U el

A.Q
A.Q
A.Q

B.S
B.S
B.S

CR
C.R
C.R

D.T
D.T
D.T



Answer: A.Q

A.Q
A.Q

25 Bl U] AIUHIGS §Ic GRAG, Uh Il gUId, “Tredl HIdE dsid ATl TSilaidl Thadl ol 318"
T 1 T id BIeided] JSYRIEd B Ald 3H1g?

Pointing to a man in a photograph, a woman said, “His brother’s father is the only son of my
grandfather.” How is the woman related to the man in the photograph?

wliuyﬁ}aﬁﬁﬁ_;}c- "_dﬁghljﬁléhg_ﬁatfhsui@:‘uﬂ" ‘L‘.SCJ‘:J-F' Léﬁﬂ_}ﬂldﬁéﬁi&ﬁ}&
Pled il LS e

A.3MTS
A.Mother
A. e

B.®ldh
B.Aunt

B-uﬁ? 1"'3':"‘

C.§ ol

C.Sister
C.iw

D.Hail

D.Daughter
D.

Answer: C.9ol0l

C.Sister
Cw

- grelter FTFdAed vHor f&dr o smga?
How manyv squares are there in the given figure’
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A.7



Answer:

2y

Answer:
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Answer:

B.12

C.10

D. 8

.10
adra arg+ RIS Freiel B -
AJUER
B.UT=
ORIGELS!
GLIG
ARLIR

IS USRS Ul

The social clock refers to

= 2 e (5588 palas

A UG ol fdhar AT HTH 9 Biaed] dosdl f[AHRTu

A.An individual or society’'s distribution work and leisure time
A S ol )l gl plS IS ani alews U (ool dil S

B Ulequr=dl Siaae=dl

B.Adulthood responsibilities
B.obls a2 (S o s

C.PRDIG S DU, TF BRI 3107 32T Yeid Sreiardl sufdd ad

C.Typical ages for starting a career marrying and so on
C.oe dial (Spob sl sl S8 @ls S SE 5 ju S

D.gcU®! HIvids! ATel

D.None of the above
D.oxs (208 e Y 7 0

C.PRPIG o B0, TU B0 0T 32T Yid Jaiardl sfdd ad

C.Typical ages for starting a career marrying and so on
C.oac dual (S b sl Hy) Sl S S8 58 S
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If Seshan is taller than Ammu but shorter than Raju and Ammu is just as tall as Nitin but taller than
Kishore, then who is the tallest?

S e s e o lgaal i S R Lenal Lita (35 ga) 5l 2 Bsen e g2l R o b e see s S

A.(a) 9
A.Seshan
A s

B.(b) [HYR
B.Kishore
B.. S

C.(c) 3™

C.Ammu
C.=

D.(d) X1
D.Raju

D.gs>o

Answer. D.(d) X0y
D.Raju
D.g s>
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ga1: 31Yqu u=de (A sRuagrndl, @l feeedt (P), (Q) (R), (S) 3101 (T) 81 U a1 IRy 3shHM
JARIA] BR1; iR Gleiid Uyl IR 1.

P. ASAMHIMTIA! TTed GUATd 3M14H &d IdR DleglF AT SidgH ¢ugrd! fa-dt de.
Q. TMediaR didl HesfacaHar Rig dicgnaal 3ol ARG 310l GrYiAR] Wi eTbdl.

R. TTed 10l Bicel & Gd 13 Udh1 STdrd 3id MYTITETa! STdTd.

S. 7 RigTeRIsR Picg! 3 SIUSUl Medidl Bidd Udh] Jedid Usdld.

T. STdTd SITdHT, diFT @& S ugre] 3(98H dred [Rig 31sdl I,

TR SR DAiadd! DU a1 GO 3d?

DIRECTION: Rearrange the following five sentences (P), (Q), (R), (S) and (T) in the proper sequence to
form a meaningful paragraph; then answer the questions given below them.

P. The cunning fox promises the lion that he can have the ass for dinner, but asks that his life be
spared.

Q. As soon as the ass was secured, the lion jumps at the fox, killing it for its meat and ends up having
both.

R. Two partners, the ass and the fox, go to a forest to find food.

S. So, together the lion and the fox trick the ass and make him fall into a pit.

T. On their way to the forest, they meet a lion who wishes to eat both.

Which of the following should be the SECOND sentence after rearrangement?

usles b ol (P)e (Q)¢ (R)¢ (S) s (T) Lsllsne 8 £ 5 a5 Here iann i oy A S s Jea b S
R S

P22 3sen ol OS¢ LS S i 55 SWSexcy il 35ad (2,

Q. 1 e S s 0yl ke A Sl S s (o s5as) Jad e S s il o,
R. B A S S35a3US gse fia ¢ 5030 Hyl ppdcuags g

S. el S S JBEB ) (Sda S sl S jaa S S5ed ol sk s
T 8 s LS S 5ign o) g De ad ) oS00y Sla S,

b lplyupadale S S acmjis s

AT
AT

AT

B.R
B.R
B.R

C.Q
C.Q
C.Q

D.P
D.P
D.P



Answer: A.T
AT
AT

31 6 A9 40 AT el 3¥dId, IR USUISTAT HIcdieI=H HTY HIH HT?
What is the angle between the hands of the clock, when it shows 40 minutes past 67

6 fup S syl S IS S (6568 Sy ) g Ciie 40 Sy

A.40°
A.40°
A.40°

B.70°
B.70°
B.70°

C.80°
C.80°
C.80°

D.90"
D.90°
D.90°

Answer: A.40°
A.40°
A.40°

. HuaT Reear gaEmAye Aoft qof SO IeT g .
DIRECTIONS: Complete the series bv choesing nght ficure from the grven choices.

— a8 S Akl S 8wt S e Bk —— e DU S JraSbiag

Problem Figures




A. (A)
B. (B)
C. (C)

D. (D)

Answer: B. (B)

33 DA RRIfEg SIS 34l

Where does the vertex of an angle lie:

= 353 ULS a4 IS gyl § S

A AT
A.In the interior
A.a dala

B.dleIHFTd
B.In its exterior
B.u=z s

C. PR
C.On the angle

C.o: 3

D.gitd! Hivrde! ATel

D.none of these
D.uxt 58

Answer: C. DR
C.On the angle

C.x~l)

34 V1024 =7

A. .72
B. 22
C.12

D. 32



Answer: 1), 32

35 A1 Qrail feadedn faur (A) 3o RO (R) F181, Wieild Udt gy 9gig fAdsr:

a8 (A): P SIcl YT Hed $pd AR Hlg cTdhudrd Had gld.
BRI (R): ATIIM STl dIcell Gpiad ald a1 Pl Hleudld Had aid.

DIRECTION: For the Assertion (A) and Reason (R) given below, choose the correct alternative from the
following:

Assertion (A): Heating glass bottles helps in removing metal screw tops which are stuck.
Reason (R): On heating glass bottle shrinks which helps in removing the cork.

Gl Ry _agiicula (A) Lyl (R) UiS adie Jolde rasaa ) w aa i A jaie o 3 S ey

(i sl (A): - = sl 22 e S S ma (6 gl g iy S Sl Sclay w88 S slie SRS
23 (R): - e e (e G S SIS o o (S3S Jigr e S8 S ig SailS

A1 (A) 301 (R) TA 3fTgd AN (R) (A) T TRY WFIHIN 3T
A.Both (A) and (R) are true and (R) is the correct explanation of (A)

A (A) 53 (R) 23l U gmem 552 (R) (A) o2 by e 2 S

B.2Igl (A) 3101 (R) WX 3Ted, T (R) (A) T TG WFTHR0I ATa]
B.Both (A) and (R) are true, but (R) is not the correct explanation of (A)
B. (A) U5 (R) (58 «un pmaa U552 (R) (A) = o Cealiay s o S

C.(A) 9d 3{Tg, I (R) TI< 3iT8
C.(A) is true, but (R) is false
C. (A) & = waaa (R) ke

D.(A) @I¢ 3MTg, I¥d (R) I 3MT8
D.(A) is false, but (R) is true
D. (A) o5 ¢« =1 R XR). 4 paase

Answer: C.(A) 9d 3flg, T (R) @Ic 3(Tg
C.(A) is true, but (R) is false
C. A\ ot gma (R) o b

36 fed Uog TUge™ g1 A1 318

The Hill palace Museum is in the state of -



Answer:

37

A HERTY

A.Maharashtra
A.) 55 L

B.&HlcdH

B.Karnataka
B.ASSU S

C. D
C.Kerala

C. K
D gitdt Hivrde! ATgl

D.None of these
D.uie S s el

C.ID

C.Kerala
C. AI,sS

CLIGH
X ST IWHR AP Ydhdid 3.

Haldl HIY:
|. TXDR Pl BIUGRIR B Y.
I|. TRPR T-HH cay Vg & Ydhd.

Statement:
Government of country X is in financial crisis.
Course of actions:

|. Government can legalise cocaine.

Il. Government can abolish income tax

Ol
X - 2 MEFIS ) pas e Coa gSa S S

Jae a3y
= s L (508 S (S S Cue Sa
Il = (s S A58 S8 oSGl e S

A THad | STERA 318
A.Only | follows

A Ciral 8 5 AY



B.Ihd || RN Hd 31T
B.Only Il follows

B. cijall 8 & Y

C.UHR | fdhal 1| I 318

C.Either | or |l follows
Clull 8 5 SY S e

D.| f&ar 11 S0P BTale! STERUI Hd ATal

D.Neither | nor |l follows
D. 1o 18 5 s Y 02 PS —0

Answer: D.| fdar 1l S0 PT BIgle! STHRU HRd ATal

D.Neither | nor |l follows
Dol st 118 5 st SY e (PsS o ia

38 ddd YHId (gl Shdo) IPRTHASD U SHiAEgd Hlfgd! SUaef Alal 3T 3R
IHRIAS TUEc iRl SIS 3T

Halo effect is to link positive qualities with other positive qualities about which information is
not available

Ut 3t Soa e Sa e aly s gsnea Culle O 8 S (angd Cufle gaS dale S (a Sl esa L
U e e e e

A Ydcil

A.Tendency
A.2315) (D)

B.&HdI
B.Ability
B.<all

C. 44y

C.Habit
C e

D.Udd HTeld Alel

D.Not sure

Answer: A.E@c_rﬁ

A.Tendency
A o535)Sa)



39 HRAH IRl 85 HIR 3R H1Ud, AT STdidbs dad 15 HI. Trerd Tail. df I=81 Sididhs doseil o1 60 Hi.
glercll. d) fdd dis 311d1 $edi = g2

Bharti travelled a distance of 85 m towards North, then turned to left and walked for 15 m. She turned
left again and walked 60 m. In which direction is she facing now?

1S Ol a3 60 Ll 550 Uil Dz oty A 15 Uyl 650 0l g LSl ALali IS S 85 Gl (S el S Sl
= e Can US 7

A <féror-gd
A.South-East

A.G -0 5

B.Gl&mr
B.South

B. «sa

C gi&ur-ufgH
C.South-West
C.re-0 5

D.ufgH
D.West

D.— s

Answer: B.gfémor
B.South

B. —sa

40 @Teadd] DI TS WSHE ISeI0T 38?2

Which of the following is an example of igneous rock?

¢ 2 Jle (S ety il O S s se did 50

A SdTee

A.Basalt
A. Sl

B.gi@s!

B.Limestone
B. L

C.&ie

C.Slate
C.



D HITHIAY
D.Marble
D. d: )l

Answer: A SdTee
A.Basalt
A. Sy

41 fetean gaigite! aires d fAasT:

Select the odd one out from the given options:

QS il oS G o e e LA 8

AT
A.MILK
A2y

C. ot
C.BUTTER
C.0e5%a

DS
D.BREAD
D

Answer: DS
D.BREAD

D.1



42

ga1: 31Yqu u=de (A sRuagrndl, @l feeedt (P), (Q) (R), (S) 3101 (T) 81 U a1 IRy 3shHM
JARIA] BR1; iR Gleiid Uyl IR 1.

P. ASAMHIMTIA! TTed GUATd 3M14H &d IdR DleglF AT SidgH ¢ugrd! fa-dt de.
Q. TMediaR didl HesfacaHar Rig dicgnaal 3ol ARG 310l GrYiAR] Wi eTbdl.

R. TTed 10l Bicel & Gd 13 Udh1 STdrd 3id MYTITETa! STdTd.

S. 7 RigTeRIsR Picg! 3 SIUSUl Medidl Bidd Udh] Jedid Usdld.

T. STdTd SITdHT, diFT @& S ugre] 3(98H dred [Rig 31sdl I,

TR HAHGR Ddiadd! ivrd ard fawR 382

DIRECTION: Rearrange the following five sentences (P), (Q), (R), (S) and (T) in the proper sequence to
form a meaningful paragraph; then answer the questions given below them.

P. The cunning fox promises the lion that he can have the ass for dinner, but asks that his life be
spared.

Q. As soon as the ass was secured, the lion jumps at the fox, killing it for its meat and ends up having
both.

R. Two partners, the ass and the fox, go to a forest to find food.

S. So, together the lion and the fox trick the ass and make him fall into a pit.

T. On their way to the forest, they meet a lion who wishes to eat both.

Which of the following should be the THIRD sentence after rearrangement?

usles b ol (P)e (Q)¢ (R)¢ (S) s (T) Lsllsne 8 £ 5 a5 Here iann i oy A S s Jea b S
R S

P22 3sen ol OS¢ LS S i 55 SWSexcy il 35ad (2,

Q. 1 e S s 0yl ke A Sl S s (o s5as) Jad e S s il o,
R. B A S S35a3US gse fia ¢ 5030 Hyl ppdcuags g

S. el S S JBEB ) (Sda S sl S jaa S S5ed ol sk s
T 8 s LS S 5ign o) g De ad ) oS00y Sla S,

b lUplpaiddealegSa S S jis by

A.P
A.P
A.P

B.Q
B.Q
B.Q

CR
C.R
C.R

D.S
D.S
D.S



Answer: AP
A.P
A.P

43 Grdiiade! Y sq HIUI ?

A.vilodedHIH

B.SlodcdHA

C.ullvdcdH-

D.uividedH[Hq

Answer: A vilodcdHl+d

44 ST WIeitd SgaRyT HIsuigdad ardl 31for Jrelt feaiean ugid I 1.
4K%RT3EP#A7B9DIQ@28VUOHJ5F1%6MW

I o AL Wielid Yaiard! Idl dg- 14 1 gehHrA] Joad] d19H 7 Y1 9P DIl ?

DIRECTIONS: Study the following arrangement carefully and answer the questions given below.

4K%RTIEP#A7BO9DIQ@28VUOHJSF1%6MW

Which of the following is the seventh to the right of the fourteenth form the right end in the above
arrangement?

i A e ) 5 S 5 S s oyl
4K%RT3EP#A7B9DIQ@28VUOHJ5F1%6MW

oS lde weh aan Sia cisa weth A Sl e

A.7
A.7
A.7

B.5
B.5

B.5



C.J
C.J
cC.J

D.F
D.F
D.F

Answer. B.5
B.5
B.5

45 3aelis UgH dd g1 I U 814,

Alexander Graham Bell suffered from

S T PR PORSTIRE PYR L MDD DTRT. g PO I S T W

A &R

A.Bulimia
A_J_ﬂ__} _".El_},

B.fan
B.Anxiety

C.3uefia geuanT

C.Drug abuse
C.Jbenind \S Cilukia

D.did+ H&HdI
D.Dyslexia

D. oS e il (S a3

Answer: D.did- AH&Hd]
D.Dyslexia

46 16x12-672+21="7-211
16x12-672+21=7?-211

16x12-672+21=7-211



Answer:

A.381
A.381
A.381

B.347
B.347
B.347

C.372
C.372
C.372

D.giu®! HIvde! ATel.

D.None of these.
D.uwi PsS o gl

D gitast HIvdg! ATal.

D.None of these.
D.os 55 == e O



47

Answer:

I YD U=l U WHE fAURIead IR fau 3iigd SOt A, B, C 31101 D 3/ IR a4 3184
$HaR fayFiE S8l as samal yyd faur go=a1 fasmren gaad, sifor gigl faem dfbeesea ugE
faemrIed fAerfed .

U@l Akl Uhar YA UIe HRid ATal fdbdl HFddd rd- $id Alel.
A. TETe] gl YH UTa did el

B. U@ Hadl YA Ure &d 3.

C. U@} Aad! AFadd 9ra- $Hid -Tel.

D. T@IC! Add] AFddd UIa- Hd.

DIRECTIONS: Each question has a main statement followed by four statements labelled A, B, C and D.
Choose the ordered pair of statements, where the first statement implies the second, and the two
statements are logically consistent with the main statement.

One either does not follow religion or does not follow humanity
A.One does not follow religion

B.One follows religion

C.One does not follow humanity

D.One follows humanity

'&édﬁjﬁﬂ@w*ﬁégéjcuiﬂdéﬁiJj];ﬂ‘gﬁ‘&.lé‘éj1é":‘h::$*‘+dﬁi‘?‘—iﬂiwd‘yﬁ:aﬂl%
U Bidae S Ol (63 5a ihie daa g0 54 ol Sl il (S dea £ g Adea B s

S Sl LU S o 8 S e L il (5 S
AUS U gld S cnde padd S S

B =BS54 S e padl JS.
CUS U Mé S Sl padd 2 S

D LS Jld S Clal jadd (5S.

A.AD
A.AD
A.AD

B.DB
B.DB
B.DB

C.AB
C.AB
C.AB

D.BC
D.BC
D.BC

D.BC
D.BC
D.BC



48

Answer:

49

HEAT: WTelal FATT I 3 UTH Hgd sgrar e B @du 3. 73 ddu adarear dai
ZAAAST HR, ToAS TdS o1 HHR @ FEAT g, UH gewH Fiaeidcd aid. a9 g
Tcierear Harfl @TelTe STsHiedr AAT JaT.

DIRECTION: The question below has three items having certain relationship among them. The same
relationship 1s expressed by sets of circles, each circle representing one itemurespective ofits size. Match
the items with nght set of circles.

o b S e S LS *ﬁémﬁ'éwﬁ'ﬁwﬁwmm&é@wﬁ@wJ'ﬂﬂﬂﬂ o
w0 Pl oS S S0 S e S A oy DS e S W S e e o e

0 YPOOk

(A) (8)

gig, amoft, erET
Pop, Songs, Classical
oSS Bl

A. (C)
B. (E)
C. (D)

D. (A)

C. (D)

qTUdH] HIUT 3l BIad, DISIieI, UIer-g afad?

Which figure represents Rhombus, Quadrilaterals, Polygons?

05T g (L 3 € (Gata g rgmal i S
PN

(A)

(C) @a



Answer:

o0

Answer:

51

2

TR UeRHM SRISH SRdF [daRTd 4uaral Agdrdl gl BU:

The important point to be considered for organising an exhibition is:

S al Wy Sa el A S S G o 1S L S

Ad U] ThlAP AR Hgid Aled SHTdl 84
A.lt should be focused on a centralised theme
Al Fs 1S 0e nE s 8 0 aas S s

B d faemafen aed™ smaifsid $a 7d Ui

B.It should be organised with the help of the students
B. s Ula LS alie il w23 S el

C. Mt oA Seammt § srfadid $d urehe

C.It should be implemented according to advance planning
C.ila BuS MUl (3lae S (g3 migamia S i 5 G

D dd 94
D.All the above

D .l S

D.ad gd
D.All the above
D.aledo ) S

Jeld Idrdid TUlidl TRRRI Hlel:
5,15, 70

Find the average of the scores in the following set:
S\1%; 70

oyl I o8l g
o, 19, MU

A.39
A.39

A.39



B.30
B.30
B.30

C.22
C.22
C.22

D.60
D.60
D.60

Answer: B.30
B.30
B.30

52 DIRECTIONS: A sentence with an underlined phrasal verb is given below. Out of the four options,
choose the one which can be substituted for the given phrasal Verb.
She broke down in the middle of her speech.

A.slept
B.sat down
C.stood silent

D.burst into tears

Answer: D.burst into tears

53 Rrefqugmed efergiord e Bue—

The contribution of Television in teaching is—

= s e adlad S 5 5 S

AT 3IA
A.Very high

Aol ) —

B.dHY
B.Ordinary
B.ah:-



C.3H
C.High
C..k!

DR
D.Zero

D. =

Answer: A. 3R 3=
A.Very high

A_a."ﬂ..:___} e

54 AT GRGHE, WiAldUd] HIUA SRTTdS dldaedd YHE SR 7617

In the past decade, which of the following has NOT been a major cause of the increase in the world’s
population?

€ = U A 650 S S il (e ol (S L S (e 3D aa e i Al 435 R

A 2T Sita Brarge

A.Longer life span
Al 5908 (Sai3 Jygha

B.3{H® Yo HHI HUI

B.Lower infant mortality
B.oaS U S gl (S eh 3>

C . gUTRd W=ad1
C.Improved sanitation
C.fim i

D A14d! Udbal ATa!

D.None of these
Do o2 o85S e

Answer: D .dM0®! Udbe! T8l

D.None of these
D.u o2 2 5S — Ue



99

Answer:

56

U% Y1 gURY 12 GRAdId 38, Al ffae $1e1 e s A &30d 318, 1.30 droidl A&l dry HIel
Hivra R fAdw HRa?

A clock is placed at 12 noon its minute hand points towards North East. In which direction does its hour
hand point at 1.30pm?

Sl Sl 5o U S ol s (S Bk Jled WIS IS ciie S Gl gl W8 LS 5y 2 12 S H90 oS 6568 S

A.3tX
A.North
A.Jlei

B.qd

B.East
B.G e

C.gf&mr
C.South

C.sa

I SIRUSD U rA] FHARAHS T34 Jsd
Immature leaf of plants fall down due to deficiency of

S S a8 s (S oS (S 08 B S S o

A XdchY
A.Sulphur
A il

BIRi®
B.Zinc
B. S

C. BTy
C.Phosphorus

C. seosiuld



D IifsaH
D.Sodium
D. a5

Answer: B.foid

57 3{rad! feidd ged MY il didg 9IeRuarEl Hd Udl JTdl Fordid

Recurrent anxiety attacks in which the person experiences intense terror is termed as

e S e U S e G A LI o Ol e e ea Rl I i

A fHdl [dPR

A.Panic disorder

A ; H.hJLI:- hhi:i:‘t-l

B. gmHTSS {4l
B.Social Phobia

C.g=uid! fHdl
C.Angrophobia
Clus s ) Gsa S _at)

D . Ti®! Udhg! ATel

D.None of these
D.ux &5 o=

Answer: A fidl fdaeR

A.Panic disorder

58 @eauD] HIUdl U Jeddl Risiauaar fed-Fiferd gyd usdi?

Which one of the following aids has the long-lasting impact on teaching?

$ = UgS) i dlagall dagh s 0uapaibs 008 as gz 530 i ~x e

A.Sig] drel Wd: U 3HTad Hledl 10T faenaf-n a1 @ S1evard Uikd S

A.When you will yourself draw a diagram and also motivate the students to draw them
A5 S S G e Sellh I S byl ) S (il ol S Sl 258 o caa



Answer:

59

Answer:

60

B.SIg1 J%e! T[STA] WoTdr TEIe X 3MTdhdl Hlg MU

B.When you will bring a beautiful figure drawn on a roll-up Board
B. S Ud JS UL JSd O g it SO I ) A en

C.5igl del UAITRITS (A Hlol Ha¥d 3MTeid UM HIfOr d RIbaugrd Jgrad WuH aruRid

C.When you fetch some related diagram from the lab and use it as a teaching aid
C.up S duenial 3 j5h S Kaad il )5l G 58 deala o) SailSaileie (258 s g 5300 G o

D.SicgT gie! faemai-n i U+ 3feRd 3HTAd PigH MU JiTd

D.When you will inform the students to draw the diagram from their home in advance
D.oslis ol Suiifiiy (e 568 oy S 8 (S ol8l € pde il il

A.SIgl qFl d: U T Pledl 0T faemal- g1 d S1evard Uik !

A.When you will yourself draw a diagram and also motivate the students to draw them
A5 SuSEIA e Seldl i < 5yl ) 8 iy ol 53 S 258 o ca

Hdlg T —
Communication is a—

A TdId SHTTO1 Qur=gideil Uishdn Mg

A.Process—which is going on between the Source and the Receiver
A. sl Jas Sex€ Jsa; 5l e sa—dae

B.HeUAId GH-UGH B! Uh 3T 3T

B.A condition of exchange of ideas
B. Cdla sl S S S SIS eYls

C Hifeda gxdiarur HUATE U Ugd 3T

C.A method of transfer of information’s
C. Al SIS it (S Sl glas

D.aid 9d
D.All of the above

D. e Yu o e

D.add 9d
D.All of the above

JUHER' T1 Yol JAMT Tec HI0IET ?

A UXdid-I



B.g¥ard

Cc.Ride
D HgR &0l
Answer: c.Xiac
61 Uh] H&IAT 3/5 9 60% © 36 AN dl ST 3HTe:

If 60% of 3/5 of a number is 36, then the number is:

By lS jaic 51 5236 < 60% 8315 S juai € R

A.80
A.80
A.80

B.100
B.100
B.100

C.75
C.75
C.75

D.90
D.90
D.90

Answer: B.100

B.100
B.100

62 e ArfereT qul .
TRP, NLJ, HFD, ?.
DIRECTION: Complete the series
TRP, NLJ, HFD, ?.
58 dSa 58 7w el il

TRP, NLJ, HFD, ?.



A.AZX
A.AZX
A.AZX

B.CJX
B.CJX
B.CJX

C.BZX
C.BZX
C.BZX

D.ZWU
D.ZWU
D.ZWU

Answer: C.BZX
C.BZX
C.BZX

63 fAder: Treid Uy e Yeciar el 3gd.

show/ slot/ down/ ride
“down” Tl Y31 fdbod! Usar<dl Siial A faded aul 3iTgd forded STl auf AIddid 3ed?

DIRECTIONS: Following question is based on the given words.

show/ slot/ down/ ride

In the word ‘down’ how many pairs of words have as many letter as in English alphabet?
U Uaile prigadl g ol S s il

show/ slot/ down/ ride

o b S S paad dia o K3l e il ‘down’

AUdh
A.One
A

=XAG!
B.Two
B.s

cdH
C.Three

C.os



D AU UHa! ATal

D.None of these
D.ux 55

Answer: D ATUP] Udhol :I'lﬁ

D.None of these
D.ox 55

64 U yfaurar faemdf mforarea twaed ue 11Uk 9 Hral sfor gl i gt gifed i 3i1e, Fdk T
URd& WU qHd! Uidfhar o1 3rbd?

A gifted student commits a serious mistake in Maths paper and you have marked out the error, then
being an invigilator what will be your reaction?

P@hndéﬁ'ﬁé#ffijﬁf‘&ﬁu'ﬁJlﬂwhhﬁdilwd‘@\éﬁ\:U(lci_JUnﬂJ_'_'l
*“3}1 .'J.AQJJ 1\:_:5 S J.T'Ii

A faemrafe 98 SRaqH <37 91 Bl CIHUar FiTol

A.Tell the student to remove the error through indication
A.c2Be S Ghle S S ;0 _So Ll oS ale Gl

B.qHEI® g ®IUdiel Ufaferar el SR =gl

B.No response will be given by you
B. S S uideer; SS o

C .= ITWURAGAR ol HIAM] ATl ATEed ieTol

C.Tell him while putting signature on his answer book
C.oslly sl Sy 5 S ety 3 (S (2l SO

D FTdl FIYRU b Gl

D.Giving general hint to the class.
D_‘-.L_j.l'- nj..n:ul 1:.l.l:. _,S L_}u:js

Answer. B.dHHIP g DIUlel Ufdfshar feedt SR el

B.No response will be given by you
B. S S usidaca; S8

65 A sentence with an underlined idiomatic expression is given. What is the meaning of the idiomatic
expression ‘put one's shoulder to the wheel’ in the sentence given below?

| know that the new deadline is tight, but if everyone puts their shoulders to the wheel , | know we can
get it done in time!

A.To work very hard and diligently.

B.To assign the work to others and relax



C.To get the work done from outside

D.None of the above

Answer: A.To work very hard and diligently.

66 o1 Widia g e uaiaimey 6 sier/ssRis Rast.
il o ek . ol

DIRECTIONS: In the following question, select the related letter/word/number from the given
alternatives.

s, SOy . el

S catie jaeylailfen a adlafe s Jolde C'g 2 st J) s Jid as Hie e
Tl B | el

A48

A.48
A.48

B.30
B.30
B.30

C.35
C.35
C.35

D.37
D.37
D.37

Answer: D.37
D.37
D.37

67 .000001 9 U1 fdhdl 3aa?
What will be the cubic root of .000001?

0.000001 €18 5: LS &5 anSa 1S



A.0.1
A.0.1
A.0.1

B.0.01
B.0.01
B.0.01

C.0.316
C.0.316
C.0.316

D.3.1E-2
D.3.1E-2
D.3.1E-2

Answer: B.0.01
B.0.01
B.0.01

68 USRI (Airbnb) el FAJT YR -

The Indian equivalent to Airbnb is -

« ) A (AIRBNB) = s 5hee A5l S

A fFauare

A.Flipkart
A.C)lS s

B.HIYAT
B.Myntra
B. i

C. 31l
C.Oyo
C.s

D. Il
D.Ola
D. Yl

Answer: C. 3141
C.Oyo
C.s5



69 ArpaE Sasid afd J181 9 3T

The largest country in the world by population is -

d&'}fﬂ‘&leu:mu!mé‘_gjhi

A JUHT
A.USA

Aol oul o

B.HIRd
B.India
B.o ke

c.dH

C.China
C. bila

D XfRmar
D.Russia
D.ossu

Answer: c.dH

C.China
C. bl

70 4 x 4 412 1 AP HAHA 1/5H1 G195 3ald fdbd! b= FHIAY Bl Adia?

How many squares of side 1/5 m can be induced in a square of 4 x 4 m2?

o s LS ol s e 30 4 X 4 S S e 1/5 sk (S mi e S

A.400
A.400
A.400

B.40

B.40
B.40

C.80
C.80
C.80

D.320
D.320
D.320



Answer:

71

Answer:

A.400
A.400
A.400

£ Johid WHIGARS 3T

would be an evolved trait

}f&&.ﬂ_,ﬂi;ﬁ@m‘;lé’l

A 3{fd @ruar! ugdl

A.Tendency to overeat
Allaa )8 _3leS o)

B.qTdl aikd ufadre

B.Quick response to danger
B.slas )58 e 2 yha

C.3{THHTT (3UT)

C.Aggression
C.cua s

D. dIdu®! 9d
D.All of the above
D. eVl 7 0

D qidudt 9d
D.All of the above

D.eaVu 7 0



72

Answer:

I TS WA U UHE [Qyad IR fdu™ 3igd Sai=ararcit A, B, C 3101 D 3/ IR faeH 3.
$HaR fayFE 9131 ast samel yyd faur =1 faumren gaad, sifor g1l faum dfbaesea vgg
faemrIed fAerfed .

Rrergeh TR uraRaR fa TReifaR sneid iR,
A. Rrsgasit urgdar semid 3ire.

B. fRArsgait uradiar snerid e,

C. gt ReaR snenfad 3ie.

D. Rrsggt TReaR snerid 1@l

DIRECTIONS: Each question has a main statement followed by four statements labelled A, B, C and D.
Choose the ordered pair of statements, where the first statement implies the second, and the two
statements are logically consistent with the main statement.

The scholarship is based on either merit or need
A.The scholarship is based on merit

B.The scholarship is not based on merit

C.The scholarship is based on need

D.The scholarship is not based on need

-&ﬁdﬁjﬁﬂﬁ‘w*;ﬁégéjc“ﬁuéﬁijjl;_r""""g_f.‘LI&?J‘%#&d%Jﬂ'wd‘ﬂj:‘&:ﬂ%
U Bidae S Ol (63 5a ihie daa g0 54 ol Sl il (S dea £ g Adea B s

b (SO pal ol S e bl il
A e oy i (S Cjne il ISl

Bosile U g i (S O e i ISl

C o oile gl (S O e il ISl
Disile o sz 2l (S S5 e i IS0

A.AD
A.AD
A.AD

B.DB
B.DB
B.DB

C.AC
C.AC
C.AC

D.BC
D.BC
D.BC

D.BC
D.BC
D.BC



73 Wrdladd] HIvdl T H1d-fazayumt g1 fafkiyar Arei?
Which one of the following is not the main characteristic of Task-analysis?

€ Ut S Use 0 e OS 0 Ue Cana gl adl (S g jad Sl

A faemeafa qofa snfor ai=h Rrevar amar

A.The description of the students and their learning abilities
Al (S psindia (S eSou S ) gl oldb

B.3f®d ddu[® 3Ngul

B.ldentification of desirable behaviours

C. 312 IxduF fdar Rydt sfiaaul sayge faaraiegd 3fwsd aduidl 31aa bl 9, Adbd

C.ldentification of stimuli or situations by which one can expect student desirable behaviour

D Riwidvar I 3w

D.ldentification of teaching objectives
D.caalid S aalia S (5e 3

Answer: D .RI&iquar Igw 3@l

D.ldentification of teaching objectives

74 Qi gafd HIaT 31quife e

Find the largest among the following fraction

Ui )S U0 S Seea wcua s e S 0 aa jaie
S U0 S (63 e e s (e S (3 A p0ia

A.27/10
A.27/110
A.27/110

B.34/13
B.34/13
B.34/13

C.34/15
C.34/15
C.34/15



Answer:

75

D.28/13
D.28/13
D.28/13

A.27/10
A.27/110
A.27/110

A1 : Trcitd TS UHTd <F faum | 3nfor 11 i3t 3med. g faU Thar ¥add SR 3 Adhdid fdhdal W
HRUMY RO 3 AHdrd. Jidd! U a4 3ar faumman uRomg g Iddl. g1 faum arar snafor
Gdiiaue] SOl IRE Uaig a1 gl [aumiaelia deeid 9o $dl d a3,

CEIGE

. 319, HRd 30T Urfebdr==a1 daueHi-l fguaia dde YURUIRTE! uide 39avd 3Ridd 3118,

|. §eid 3fT3asdrd WRRIY HATH! A 3o YR 9 Ul aRy ifUeR] Tudde Y6 JYRUGRITS]
3UrEl PTe! Uidd Idddld.

DIRECTIONS: Below in each question are given two statements | and |l. These statements may be
either independent causes or may be effects of independent causes. One of these statements may be
the effect of the other statement. Read both the statements and decide which of the following answer
choice correctly depicts the relationship between these two statements.

Statements:

|. Today, the Prime Ministers of India and Pakistan have decided to take steps to improve the bilateral
relations.

Il. Next week a Committee of Foreign Ministers and Senior Officers of India and Pakistan will work out
further steps to improve the relationship.

Sl 33 s g 3 aiclla | oyl 1 Shaliln a.on B el ion S ol Sy 35 s bhcbayd)
Joail Kol ga € B 0 a8 (S ahad Hl paadcliln gy 8w o 5118 2 g Gl SOl ae Sl
= BS il S S Bl le jo S Ul 550

=l

| — oS iad i€ S claladl S by i oS Cililed ad ke g0 )l a5 S LS ) Sl o]
S oSy ilaladl ype S iy g iy lilad s (S 5 jaadl Sl 59l 5 e i S JauSly U1 5 K.

A.1 81 IRUIH 31 31T || § A diehiad IO T HRUT 3HT8;
A.l is effect and Il is its immediate and principal cause;
A e el e du s = Al -2 s o5l eos S o

B.I @ dlchled IO UG HRUN 3T 10T || BT AT URUIMH 318
B.l is the immediate and principal cause and |l its effect;
B. gzl e U o3l s Dl eogll- = A8 ol



Answer:

76

Answer:

77

C.| 81 YR 3{T8 W] Il § AT dlchies O YHE HRUT Alel
C.lis an effect but Il is not its immediate and principal cause;
Coowignl s o 8 = Al - = 0% s sl 55 o8 S U

D.11 81 URUMH 3418 Uiq | § I dlch1ed A1 YHE HRUT Alel
D.ll is an effect but | is not its immediate and principal cause;
D. i G ] 5 P 0SS = D3 - = o e s 9k L) 08 S O

B.1 g dlchIes IO W@ SR 3HTg 10T 1| 1 I URUMH 318
B.l is the immediate and principal cause and |l its effect;
B. et Ol | saad Pyl s Hl o Il - = )V S Gl

gfgH SaHe SET 8l =] WRUId 39d

‘Jatra’ in West Bengal is a form of -

= il S )T e JBGy (3 jha

Afdbde
A .Cricket

AS eSS

B.4I&]
B.Theatre

B.S s

C.fRremon
C.Education

C.S ade

D Iifid
D.Music

D. S i

B.dI&]
B.Theatre

B..S e

Tdd R Ao ufgedt yRdlg ewdi?

Who was the first Indian to win the Nobel Prize?

WS Jiala alail (Jagi 3 ua Sole N



A dIgT1Y TRIR
A.Rabindranath Tagore

A. S8 5yl

B.HETEHT il
B.Mahatma Gandhi
B_u.h_'u\g ‘ﬂq:.n

C.3%R 9% f[AearR

C.Ishwar Chandra Vidyasagar
C. AL Lay jia g

D §f$H dg I
D.Bankim Chandra Chattopadhyay
D. sl sia juia 255

Answer: A dIg1Y TR
A.Rabindranath Tagore

A. S8 30

78 Out of the given options, choose the one which is the correct indirect speech of the sentence given
below.
Jenny said to the watchman, “Did you find the key anywhere?”

A.Jenny asks the watchman if he found the key anywhere
B.Jenny asks the watchman if he has found the key anywhere
C.Jenny asked the watchman if he have found the key anywhere

D.Jenny asked the watchman if he had found the key anywhere

Answer: D.Jenny asked the watchman if he had found the key anywhere

79 R Afe=arar 9a1 feaxit IdarR=a1 el aR ad 319d, a) Afg=urEr 1&1 feaht Sivar ar 3’d?

If 9™ of the month falls on the day preceding Sunday, on what day will 15! of the month fall?

$S 5 ol (e (S~ 02 O Seg Gy i e )18 29 S e S

A[hdRR
A.Friday

A e



Answer:

80

Answer:

B.XMdR
B.Saturday
B. sswu

CIfddRrR
C.Sunday
C.uls

D.HHAR
D.Monday

D.

AR[PhdR
A.Friday

A ~zax

RIbaugraTdl Heed WBUH dRdided a¥qdl dIuR HRUGHE Fldidud] HIvd Uh sRIaR 3Hg?

Which one of the following is correct statement in the use of real objects as teaching aids?

¢ Ol o O L 058 3e U3~ ke e 58 Jlesial 3 Hgl S TS S oLl ads

AT Siidd UTUgid UdE UTdiéi HRUMR ATel of dIa1 TSds MYcs fdhal ThyH He Adhdld ol Bl

A.You will not demonstrate live the living animals which can create nuisance or harm for the class viz.,
dog, monkey, cat etc.

A-"“T-‘-": Uil L I-SJ_J" Cﬂ é 5 )i -.rL' ¢ )2 S ¢ gan A 2 g é S - “J:’ue"" Ll S ) sla C"J :"’J s2ij L UEJ-U "TJ

U S S
B.q%e! AU Ui f&rd BRIl SUid Uk Jgoiqul bl 913 Adbd

B.You will demonstrate the plants which can be exhibited easily
B.us s la (S e Pl il (S o B (S e ihe S 00

C.qTd &1 aRdfd® a%jd Wdied Sl fdsd o faamai ukifie Aafera ufdeds 3ied Wid
JHS gIUuUl Bd oS, Jdhdld

C.You will like to demonstrate those real objects which are beyond the experiential limits of the students
but can be demonstrated easily in the class

C.liSus la LS o e 1€ ) s (el (e GBS 08 G 5y s (Tl jad (S el sa G Sla U S0 pllan 1S L0 e of
-

D.(B) 3101 (C) SR&R q1ad 3MTgd

D.(B) and (C) are correct statements
D(C) BE) (B) UR Sl S 52

D.(B) 3101 (C) SRI&R a1y 3MTed

D.(B) and (C) are correct statements
D.(C) U3 (B) us <ily Cus o



81 AR 94¢ fhd1 aNEdl divdel gieR® fdhal faafad armeiarn 3 Tged S,

Any harmful or disruptive behavior for a group or society is termed as:

c"__:w‘élijq)‘ﬁ*:‘)sﬁ'}i“Jﬂmﬂul‘:‘“ﬂmuusf—ﬂfsr’—ﬁ!“bﬂf})gu“s:

AU fdUTds dRTS

A.Antisocial behavior
A. =32 e

B.fg9® aru®
B.Violent behavior
B."‘:':J_J ‘.S ..1.1:.:3

C . HAdA® faRieh arTue®
C.Anti-psychological behavior

C. 50 s T

D. 3R aRTU

D.Abnormal behavior
D. 50 Hsera y£

Answer: A FHTS [dUTdd dRT®

A.Antisocial behavior
A. =50 et

82 Rrevgmel IRUIGR Gidiadd! HIv Th YA GrdRdl old 8l?

Which one of the following role is not played by motivation in learning?

¢ WS LS o 1) Hla S LGS e gz 12 S U aa jaie e il (S 1 Ala g (e S

A HT-d! IdUele I SOl

A.Arousing human behaviour
Al s i S g Sl

B.HIHd! ddu[ebIdl UIEYRId] B0l

B.Persisting human behaviour
B. = U3: LS 3L oS azy) Sl

C. A4l ddve fehg Saul

C.Sustaining human behaviour
C.leS, I A 58 dae Al



D {4l ddU[® ST Bleul

D.Detecting human behaviour
DS 1S )

Answer: D HMdl U HISGH B0l

D.Detecting human behaviour
DU &S ) At

83 gald YadA™E SIS 3MTg —

The most powerful computer is—

= psmaS dih e

AR YIS
A.Super computer
A. 5 5xaS us

B.g&H IUIH
B.Micro computer
B. fsuaS 5 500k

C. g HIU[h
C.Mini-computer
C. AsaS it

D.gdd Id
D.All of these

D. e s e O

Answer: A JWR GIU[&H
A.Super computer
A. FsuaS s

84

Hae: feoiedr SARAY HIOTEr a6l 9o HThdadier Avi guT HROIRT Aed 3Gl 367?

DIRECTIONS: Which answer figure will complete the pattemn in the question figure?

TS oS JaSa o5 0t ngbai o 035 WS s> pus suguai US Jlgaw 1 Ll




Answer:

85

5“ O
°
(A)
&
O
(B)
(C)

&
L

(B)

3T Wrdiia uined uy fawgran (2) Sl SIvd 3iere ged gradl 832
1.37 x 12345="7

DIRECTIONS: What approximate value should come in the place of question mark (?) in the following
equations.

1.37 x 12345=7

B sy et la oS 51 8a (S (?) QLS g e I as 33~ paie 1l -
1.37 x 12345="7

A.17000
A.17000
A.17000

B.15000
B.15000
B.15000

C.1500
C.1500
C.1500

D.14300
D.14300
D.14300



Answer: A.17000

A.17000
A.17000

86
~4/5

243
o | = 7
( 32 )
A. 81/16
B. 16/81

C. 4/9

D. 9/4

Answer: B. 16/81

87 Geiicid ! S0l HaHd ISR A181?
Which of the following is not a fundamental right?

=0 B gl L U8 s e 23 a2

A FHHECET PR

A.Right to equality
A 38 O sl

B. AU 3ffYPR
B.Right to property
B. 3= S 2t

C. WA 3gHPR
C.Right to freedom
C. éd-ﬂj

D XNYUiaRie fghR

D.Right against exploitation
L. ;j;’\scﬂ_,._u_i)liédhﬂ.m

Answer: B.IUdid 39 R

B.Right to property
B. 3~ S 2ads



88 14 aNTGd =l Hardl [ASrd! Eieilais! Faid Hedd S 3Hg?

Which of the following is most important for growth of children up to the age of 147

Tt S o Qi S Jints (S gt S S5 s 1418 —ae g 35 e

ATQY
AMilk

Ardy

B Siild9d
B.Vitamins
B. b

C.TEl
C.Fats

C.oud

D.UICH

D.Proteins
D.o5s

Answer:  D.WIeH

D.Proteins
D. s

89 e den sid Aiferdbdia gard! dal e
13, 17, 26, 50, 100, 200, 390, 679
DIRECTIONS: Find the wrong term in the given number series:
13, 17, 26, 50, 100, 200, 390, 679
288 paihle 4z e geyiai B Lo cyly
13, 17, 26, 50, 100, 200, 390, 679
A.100

A.100
A.100

B.50
B.50
B.50



C.200

C.200
C.200
D.390
D.390
D.390
Answer: C.200
C.200
C.200
90 feiTT U T HIvf Qe ATTAT?
Who discovered sex hormones?
Y S S &l o (S (G ge )L psia
A
A.Hansen
A e
B.Q}'r‘l;l Re-d
B.Eugen Steinach
B.zid 8 52
C.USds dicad
C.Edward Calvin
CJJ-“S EJ'J‘E—.-'I'
D dlce BIg
D.Walter Kohn
D.sS Al
Answer: B.guiH Re=d
B.Eugen Steinach
B.zudul R 5
91 DIRECTIONS: A sentence with an underlined word is given below. Find the word which is opposite in

meaning to the underlined word from the given options.
Over 25 people drowned when a school bus tried to cross a river and flood waters swept through.

A.Drought

B.Overflow



C.Downpour

D.Rains

Answer:. A.Drought

92 A Gielta wyiae feeean gaiaimegE Jefed sier gg FHasr.
HCM : FAK :: SGD : ?
DIRECTIONS: In the following question, select the related group of letters from the given alternatives.

HCM : FAK :: SGD : ?
S eatie g 8 Adlete Wi pa s e ol 8 aa Jlgn I3~ joie 1Ciai

HCM : FAK :: SGD : ?

A.QEB
A.QEB
A.QEB

B.QIB
B.QIB
B.QIB

C.ESQ
C.ESQ
C.ESQ

D.GES
D.GES
D.GES

Answer: A.QEB
A.QEB
A.QEB



93

Answer:

AT 99 A1l gemugn faug sig. 15 auf-ar Hi A1 garden gue dia1 384, &1 3Hd THU 99 S
318?

| am thrice older than my son. 15 years later | will be twice older than my son. What is our total age
now?

f oS e e B g 5158w e e s J 15 05 1530183 S

A.48 I

A.48 years
A48 (.

B.60 a4

B.60 years
B.60 Ju-

C.64 a8
C.64 years

C.64 Ju=

D.72 d%

D.72 years
D.72 Ju-

B.60 d%

B.60 years
B.60 .

Oge1, fUgerar et ST MeTal el 319 F8ed, d) a1 HINHE ATFd] Il 3 S 39d?

In a certain code language, if Violet is called as Green, Green is called as Red, Red is called as Brown,
Brown is called as Orange, Orange is called as Yellow, Yellow is called as Blue and Blue is called as
Indigo, then what is the colour of human blood in that language?

@20 oS £ s LS e S Y 2 BalS IY S o o o BWalS 1, S B 8 e (i (S e ga saia S
WS S0, 8 05 S Ol gae G o) S a@alSda S o gl o o WaliS 3 oS Ly o WalS Ay S i)l o Hals

?

A.dlcd
A.Red
A.JY

B fAaT
B.Blue
B.2Ls



Answer:

95

Answer:

C.Green
C.1Ly

D.Brown
D.lse

D dufdl

D.Brown
D.lse

A UHT GaTdll 4 JUaTdl Jag 318, Jrel Jdrdl 81 999 ST grddia?

A child has nail-biting habit in the class. How could you improve his habit?

fup B W sy a8 Clle S odl G, o e (S dlin (AU e 038 S 0 Y

AJ%1 d g T HRYT dl THEIET HIHR IHTGR ATl
A.You leave it because it is not a dangerous disease
A.ddﬁ-'l(_;j--ﬁJUJL&J_;'l a,_i,.S._"_,gS o 3_3-!—.} ‘,__..M J.Tfl

B. 1A ddU[dId HICHR FREU H T1 Al adu[d Searddl Udd HRic

B.You attempt to mold his behavior under strict observation
B.us S A58 (S iy S ) S oo Cad S eailiie Ciia

C.dve! Tdl aiHe (U S
C.You insult him in the class.

C.un SSebu e 28 il .

D.q%! ATl Ulddichs dhR HRId
D.You make a complaint with his parent
D.os 58 S e gually S (Gl

B. A ddU[dId BIchR FAREU w4 Tl I adud dearddl Wad SR

B.You attempt to mold his behavior under strict observation
B.up SS 0SS S ) Spud Cad S ealia Ciin



96

Answer:

A1 ; Treitd Uldd UyTd < faam | 37 11 fddd 3med. 8 fau™ Tedk Wdd R 3 Adhdid fdhal W
HRUME IRUMH 3 IHdrd. P! U a8 sar A gk 3[g Iddl. Gi-el [AY ardr Sfor
GrefieTie! HIordT ITRTEl 43y 1 g1l fayHimdie ddeid que $dl d 3T,

fqem -
fqargeR Tag=a1 yeAainsd d1g gid 3Med.
|. UST=] geiAed d1¢ aid 3iTed.

DIRECTIONS: Below in each question are given two statements | and |l. These statements may be
either independent causes or may be effects of independent causes. One of these statements may be
the effect of the other statement. Read both the statements and decide which of the following answer
choice correctly depicts the relationship between these two statements.

Statements:
|. The cases of sex outside marriage is increasing.
Il. The cases of AIDS are increasing.

Sl 52 gpe dlse el ] ool T S bl oo 8 a0l G B 5 I S Cliga g ) el clisas o)
OV AT S Glga oS B 0 25 8 (S e jihua 5y Sy Ggisa 3 U g S0 S £ jae g Olys SO s e il
e G S J:""-Ié' P o ‘—g‘-}ﬂ: JS M Oza )3 Lc‘ Sl () ¢ 92

e

| ~ =Ly s Adlal Gue S e joe S (gali
= L g ~dlal e Sland S € S 530

A f34™ | RO 3ng 3for flAem 1 = ulRums sire:

A.Statement | is the cause and statement |l is its effect:
A s el e sl masll- = A S

B faem 11 FRor 3 3nfor fau | I ulom g

B.Statement |l is the cause and statement | is its effect:
B.ad Ul et Ot oyl s |- = A S Gl

c .faur 1 3nfor 1 S8t Wda FRU 3Ted:

C.Both the statements | and |l are independent causes;
C.o Sy ggign | sl 1] - Slasas o1

D .34 | 31for 11 giel Wdd SR GRUMH 3{T8d:
D.Both the statements | and || are effects of independent causes;
D ssas il ggiga | saad gyl ] <l A S Clagay 31 )

A T34 | FROT 3418 IO fAY 11 A= gRonH 318

A.Statement | is the cause and statement |l is its effect;
A O | e U o) sl = A S O



97 U0 YHTURIA YAiaRome e 3101 =g Ud STl g1 SFHROIT Fgurdrd

The circulation of water from the earth to the atmosphere and back again is known as

- Ulaly Sl o las o5 28 (S (Pl e Ll s i

A U199 9

A.Rain Cycle
A.JSsle o )

B.dIG! dsh
B.Thunder Cycle
B.JSuils i

C.UTgrd Ish

C.Water Cycle
C.dsil 3

D. B! I
D.Storm Cycle
D.dSsia o ) Sl

Answer: C.9IUd[d b
C.Water Cycle
C.d%ail A,

08 IO ST IrEEd SIsddl el

Excretory system is not associated with

dhjﬁjm#wé._“m LEJ‘)”J:'JSEJB::.‘LA

ATAUS

A.Kidneys
A. u_a-‘.)g

B.#1H
B.Ears
B. oS




Answer: B.dIH
B.Ears
B. oS

99 WHIGARSEI™ 9aiad Jui 31 Hdl Jsd

A trait is best described as

2 &S Ol ok ol s Ayl i oS mals

A.SHTTG 9cHhidl Yol
A.cluster of surface factors
Aliga S Ll e S mhas

B.UE Adkilagad! dlcdRdl gl

B.a temporary altitude toward a person
B.sSes (o5l e Sl ik (S adld oS

C. TR A& dl o+ HIAHERU] [WHG

C.a relatively permanent disposition of a person

D.TEIR]T <Al ad-T PR GUIRT dTdTaron- FeiRd Jeid =

D.an environmentally determined hypothetical construct that shapes an individual behavior
D. = 1 08 (S S 258k Sl s o BS jpend (S Gl ALk s Jsale Ll SO

Answer:  D.UERI A=Al 9d419 HTHR GUIRT ardraxon- Feiia 7gid ==

D.an environmentally determined hypothetical construct that shapes an individual behavior
D. - Ui (il (S 13 S 3 sike Sl g S zand (S gpand (ki s Jsale Lied S

100 5x + 3y = 31 3I0[ 3x - 5y = 5 Y1 THYd FHIHIUT JUf HRUMAT x 10T y =1 fhadi:
The values of x and y that simultaneously satisfy the equations 5x + 3y = 31 and 3x - S5y = § are:

X sy 5 Slgline Cd g Su s iladiog (SX+ 3y =313 LsIX -5y =500~ S Ghae S

AD, 2
A5, 2
A.5, 2

B.-5, -2
B.-5, -2
B.-5, -2



C.2)5
2,5
C2595

D.-2, -5
D.-2,-5
D.-2, -5

Answer. A5, 2
Ab5, 2
A5 2

1w AT W T, s Ty Ay SRR ATEdr A

DIRECTIONS: In the question below, select the related figure from the given altematives.

— S R el Al e e SV =S 0 e e S W3S
Problem Figures: Answer Figures
(A) (B) (C) (D) (1) @) (3)  (4)
A 1
B. 2
C.3
D. 4

Answer: .3

102 ‘BIAUT 73Ul * g1 dIaaRIET 34 By ?

A G S0
B.AT3HE Bl
C. 37 g0l
D.a3e d

Answer: D.a3d 9d



103 . URUIRS cleleio-ae] Uh HIB — df dHAdI 38

The traditional Television has a great demerit of—

o 2 pshae S S 0y Sl 5

A faemedf anfor Rrereimed siazfspaian sy

A.The lacking in interactions between the students and the teachers
A.ssS Upe S Sl Ol o S edilul 4l gele Il

B.Rifquaifawdt Rigremi=n Afsea edier

B.Teacher’s passive attitude towards teaching
B. ) dud 2 S sl s (S g

C. g1 H1FHIGA RIbiauarardt fRiafeit sraadd
C.Inability of teachers to teach through this media

Ccrbls (S 3teSar (i 035 nmy 53 S L

D. 7] T&hd ATel
D.Cannot say
D. 5 ~S U

Answer: A faemedt snfor R siarfearan sryE

A.The lacking in interactions between the students and the teachers
AsS e G S Gl o Sedll gl (sale

104 Greiiaud! 3G s HI0MT ?

A TR
B. ST

C ST
D Sidrauii

Answer: B.\ﬂ*lhﬂ

For More Info And Videos About TAIT-Exam Syllabus And Other Exam Visit My Channel
TAIT =41 30 wsrafaa1 PDF | : S A MM

1 X YosllB® VVWW.YouTube.com/BAD
BADSHAHImp Available Request (B 9765226781 oD Sul 'helli..-h* - o e



105 HehTdl INAAS ddvd Al g1 MRTaR Haag Had—

Chemical behavior of an element depends upon its—

=Y A S ol Jhanil S g eSS Gl S

A. U gIdId ATl UieiHdt &A1

A.Number of protons in nucleus
A.dasl (S 5558 e oailS 50

B.3UdhldId ATl gl S=AT

B.Number of Neutrons in nucleus
B.alaad (S O g8 sx Gta uilS g

C.3{UhgIHIad! fhRum=ar saaeHdl &A1

C.Number of electrons revolving around nucleus

C.alaad (S g8l My S St Safa) S il
D.3{U[hgIdd SfU[BUNH! H&AT

D.Number of nucleons in nucleus
D.alasd (S 5588 55 (ae S 5

Answer: C. U gIHIdd fhUM=T dded! A

C.Number of electrons revolving around nucleus

C.3h3 S 0B My SdSin £ 38 31 S ol o

106 U] ATl BIeids Sl GRIgH IHU IGUITdl, “g1 HIZdl Meed U adl Jaral Gar 3Hie” IH0 ol
HArIdd S ATd 3M1g?

Pointing to a boy's photograph Raman said. "He is the son of my mother's only son". How is Raman
related to that boy?

PRI S S e "2 S eaaly Sk 2" WS S0a S8 e sk (S el (S ST

A.HI\H
A.Brother
A. e

B.d[P]

B.Uncle
B.l>

C.ddd HI%h
C.Cousin
C.a)La

. For Mare Info And Videos About TAIT-Exam Syllabus And Other Exam Visit My Channel
TAIT = 30 wwafaa1 PDF i@ m /BADSHAHIMD

MADEHAHmS: Aveilvble Requm, (9 W065226781 Sebacribe My Chanmel s &



D.dsid
D.Father

D.<L

Answer: Ddald
D.Father
D.L

107 gqrie! HIvd! 3HTdhat fawuar, gl sfor IR giean = A1d gRiad?
Which of the following diagrams represents the relationship among Sparrows, Birds and Mice?

¢ 98 (Salal (S lalad (a2 S Usss o) U 0 o0 0SS 0 0o Usal AU U3 aa jhia

108 DI I HRaAT! "I &all” Tged |rd?
Which city is called the "Silicon Volley of India?

=B ls pdlugsS o S by oSl

A.BeRIEIG
A.Hyderabad
A )



Answer:

109

B.dT&

B.Bengaluru

B. s

D fqeril
D.Delhi

D.L=

B.dT®

B.Bengaluru

B. 58

g1 @rciid Alfgd! dIessiigde aran o Jreita Ui IR 1:

P.Q,R, S, T,V 301 W IFHYd I1d gHrlt 3ned. @i=and diF faendf, S e anfor <= ggantt snea.
d dIF 3TaTTeA] TCHE HTH HIAId- |, 11 SHI0T 111, Ul TTerd U faendt snfor feam ue Rigres fdhar ue
geartt 3me. s g1 faendf 3ng 3nfor a P Hied 11-a1 7TeTd 3R, P 81 "adll 3112, | &1 7TeTd $dcs T 3H1foT
O} gganrft 3ire. v g1 faendf Q died s #dl, Sl W Hidd S1H $d A1gl. Rigie w, R Jidd S Hd

el
Wreiaus! ot el 31 faendf sngda?

DIRECTIONS: Study the following information carefully and answer the questions given below:

P,Q, R, S, T Vand W are seven participants in a seminar. There are three students, two Lecturers and
two assistants among them. They work in three different groups |, Il and lll. In each group there is one
student and at least one Lecturer or one assistant. S is a student and is in group lll with P, an assistant.
The other assistant is in group | with only T. V, a student works with Q who does not work with W.
Lecturer W does not work with R.

Which of the following groups represents three students?

ol Sogllae K v a5l g5y e glas S Slagles d) aa jaie i,

Pe Q¢ Re Se Te V sl W iliae (85 m Giglaa 52 55l S 52 cale b 8w ne O - oS 5 Sl (e )l S
G S el Lsh Ml - Gstan S L 508 Sl oS oS gl ale Cilla S aa g S g S5 8 (e S o ple Ll oS
3B ol e Pgs S Gslaa yugp o o Oslea Sl 2 ¢ o gfl S| Gipa e T et S Ve e Clla SUIQ 8l S
32 =1 U8 S WL DS -2 B i 1S ¢3ua S R -2 US Qi 1S FlunieS

¢ 2 S (Sanilad (S Ulh 8 oy S Ll S s (pe b a2k

A.TVS
A.TVS
A.TVS

B.TQS
B.TQS
B.TQS



C.WQS
C.WQS
C.WQS

D33 Afgd!
D.Data inadequate

Answer:. A.TVS
A.TVS
A.TVS

110 DI GfiTd Ufbdue) YU Ul HId- SHadTss Ir¥Iad Uil U ayd dedl JId 3H1g?

In which of the natural processes, water is one of the basic raw materials along with the sunlight and
carbon dioxide?

; . . - | g .« ® - -
=2l pla ool Sl (il S TUST S5 )8 ) (Al Sz cuke dae (Fo S

A IR

A.Photosynthesis
A= S

RGBSR

B.Respiration
B.osiil Jae

C.3iMTSHI

C.Oxidation
C.uuSG Jae

D Siferg 3fggeH
D.Hydrolysis
D.Sauil o

Answer: A.GICIRRARNY

A.Photosynthesis
Al Glua

111 "YRAT FaAfHd = S-E" HI0Mdl Bed oid?

Who was called the “father of Indian Renaissance™?

-dmhhﬂ?béﬂiJéELI@mW&Jm



A TS IHAEA T

A.Raja Rammohan Roy
A. = Gisepl ol

B.U¢ Sl
B.Dayanand Saraswati
B. s e 2l

C.UH Sl I[S
C.M.G. Ranade
C.sil) (> af

D.R&ATY doil
D.Surendranath Banerjee
D.2 5 480 )2 yu

Answer: A TSI IHATA I
A.Raja Rammohan Roy

AL Gl =

112 576 21 TH Ul Hagdidl GBAT?
The total number of factors of 576 is?

576 = daad (S S S

A.21
A.21
A.21

B.20
B.20
B.20

C.24
C.24
C.24

D.15
D.15
D.15

Answer: A.21
A.21

A.21



113 . 6000 &1 AT fdsht SHYugOasS] TR %, 6500 1 fdh! N 10% 3Mi8d 96T 8idl. TR Wl
fhHd PIEl.

10% more is gained by selling a cow for Rs.6500 than by selling it for Rs.6000. Find the cost price of
the cow.

6500 cuad S CAY S S8 S 5 S iy ey 6000 Cusmais Ugsadly ail %10 —w S i i S 8 e iy
BA F

A%. 5000
A.Rs.5000
A.Rs.5000

B.%. 6000
B.Rs.6000
B.Rs.6000

C.%. 5500
C.Rs.5500
C.Rs.5500

D .git! HIIdg! ATel

D.None of these
D. g oS

Answer: A.©. 5000

A.Rs.5000
A.Rs.5000

114 . 2500 TT ¥HHER 3 IYE13] 5% TS S IS AT BT

Find the simple interest on a sum of Rs.2500 in 3 years at the rate of interest 5%

S pslae S ajde g e 50 SBL A S 3 s 2500 e S

A.375

A.375
A.375

B.150
B.150
B.150

C.250
C.250
C.250



D.460
D.460
D.460

Answer: A.375
A.375
A.375

115 ol TP FAGH SN ASAHE 3T8-
The “Valley of flowers” is located in which state-

= a8l g e Sy ) S "6l 5 S Us e

A IRES
A.Uttarakhand
A. 38 53

B. SR 31101 HIHR

B.Jammu and Kashmir
B. JieiS 9 sen

C.ID
C.Kerala

C. ALK

D.feurEd ueX

D.Himachal Pradesh
D. a2 dale

Answer: A 3TRIES
A.Uttarakhand

A. 338 il

116 Out of the four alternatives, choose the one which can be substituted for the given words/sentence.
Strong and unreasonable dislike or fear of people from other countries

A.Xenophobia
B.Claustrophobia
C.Amnesia

D.Aborigines



Answer: A.Xenophobia

L THT FIATEAT did FIUT JETaedT Hed. Feaedr uag Fou ey FFomt a5 D
Regar @3 39a?

Three positions of a dice are given. Find out which 1s found opposite the letter D 1n the given cube.

= '-ﬂrhlh:ir_.._-;-l:...- ;jé‘_}h_ﬁw.:lu&_:.s‘f:‘\'s- ..lsn_a.midui—v._-_u J."SJ: e | 2 u._:.':'JS.:_.:.‘ ..5::4_

ol - - ——— Ww ==

VA b

A F
B. E
C.G
D.A
Answer: C.C
118 fediear yafgit®t 9ies d Hasr:

Select the odd one out from the given options:

S Al S jJ"" o= = L <l asl C-'S P

A.MNER
A.MNER
A.MNER

B.BFLK
B.BFLK
B.BFLK

C.RTAC

C.RTAC
C.RTAC

D.GIKM
D.GIKM
D.GIKM



Answer: B.BFLK
B.BFLK
B.BFLK

119 YT Wreitd uyiae greren <A faum fede sime Sui=an 4ar A 3ol B 3@ g sy fddd simed.
HHYU HTgld el iR Gebd A9d ddlel ol fae sRIsR 3Med 38 FHul.
U J&iP WP 3Hled.
d W& ey 3R,
s
A. BTl Yo faey 3MTed.
B. HIUAIG] @e® &I lol.

DIRECTION: In the following questions, you are given two statements followed by two conclusion A and
B. You have to take the statements to be true even if they seem to be at variance from commonly
known facts.

Statements:
Many books are rocks.
All rocks are clips.

Conclusions:
A. Some books are clips.
B. No rock is a book.

2 90 a S G gn 8 2y g0 S Qi (e OV gue JB aa jaiarcyly A gl B ashad Gy Sy S ol g 8
03 S i gSe S (Glia aglas 5 jshale sy S LS

| k| T
-Un J‘ji" ﬁtﬁ _)351

da:
A. -0z QIS (IS s
B. - = U SIS B2 AS

AR $da GO A ST,

A.If only conclusion A follows
Aaticapa A. U S 55

B.SR $da U1 B 3.

B.If only conclusion B follows
B pyaB. 2GS 65)u

C.SR &l-ol 94 A 3101 B 3T,
C.If both A and B follow
CussrA Bt S S6som




D SR &1 Ta1g A 310 B 99014,

D.If neither A nor B follows
Ds~As~B- =255 6s5x

Answer: A SR $dcs TO1g A SN,
A.If only conclusion A follows

Arafics paA. U S 55

120 YR ST G918, 11 fabr o1 77 Ja-iieror J4t ST 3iigd

Who is the Minister of Water Resources, River Development & Ganga rejuvenation of India?

on BE (e 54l 855 638 ¢ U )y Sl

A JHT HRdl
A.Uma Bharti
A el

B.UH. Ol MS®HA|
B.N.J. Godkari

B.GJ"S.S —

C JMHdd™ UrgaH

C.Ramvilas Paswan
C.Os=b Y500,

D. R UY

D.Suresh Prabhu
D. s 00 o

Answer. B.Uq. o, MSH
B.N.J. Godkari

B.LEJ:-SJg = ﬁ'



121 Gt Ysaid! decdl HHM AU S Al facedr ufaueiae= HIoar 3yl HH 38d?

1. UdI™{d
2. Tld]

3. YT
4. 94/FH HHD

5. 3REUT
6. SREUMHTA! FU/STIAT JUcId]

Which one of the given responses would be a meaningful order of the following words in ascending
order?

1. Travel

2. Destination

3. Payment

4. Berth/Sheet number

5. Reservation

6. Availability of berth/seat for reservation

S5 i i (e (S B 3 e saie SO LS s e Sl S 0 e G T (P (B 0

5. O

DB.2.5.4,3, 1
D6,2,5,4,3, 1
[).G. 2.9, 4.3, 1

Answer:. B.2,6,3,.5 4,1
B2, 606, 3 5\41
B2.603.9 4.1



122 HIUTS 719 ARISIITS! SdEeR 3cd §3 UgHS 36
The main pollutant responsible for Bhopal Gas Tragedy is:

= o3 el )l el S el el Jl g

A fBYRd maEaEERe

A.Methyl isocyanate
A Sl Jiia

B.SIAH

B.Bromine
B. ey 0

C FIRTRRIBTEA

C.Chlorofluro carbon
C.0\S gl )

D.dRIA
D.Chlorine

D. (uusiS

Answer: A BuEa smaaamEe

A.Methyl isocyanate
Al Sl Jie



123

Answer:

I YD U=l U WHE fAURIead IR fau 3iigd SOt A, B, C 31101 D 3/ IR a4 3184
$HaR fayFiE S8l as samal yyd faur go=a1 fasmren gaad, sifor gigl faem dfbeesea ugE
faemrIed fAerfed .

R Hdl WRded, @R {i dl 39 fded 93 b+
A. 1 4l 39 93 THdl

B. Ht Al S9 9% UHd 18l
C. Hi dl g9 fawd 934
D. Hl A 39 fa®d YUIR el

DIRECTIONS: Each question has a main statement followed by four statements labelled A, B, C and D.
Choose the ordered pair of statements, where the first statement implies the second, and the two
statements are logically consistent with the main statement.

| will buy that dress, if | can afford it.
A. | can afford the dress

B. | can not afford the dress

C. | will buy that dress

D. | will not buy that dress

i S ggden o Sluia granl o B S _asali S (63 4l e oo ) taa Sl ey Suea o alea SOl gae Jlsn iy
ot (Bitae S Ol (6 3S ja ihaie Jaa g0y by S oLl el (S Alea o g Alea s s

B usdey 518 S 3,4 g S
Aus B S35l guySes g
BUSus S Gad 35581 Guisd oy e -

C8 Usd 35 puslos e

D& sus Gl gaisd oy gse -

A.AB
A.AB
A.AB

B.BC
B.BC
B.BC

C.DA
C.DA
C.DA

D.DB

D.DB
D.DB

D.DB
D.DB
D.DB



124 fqem:
T4d X I RHRAT AU 38, d AgH! WBHRI YRUNEIId dlefddic Uidiied Hrdrd, Jdidl aidH]
AgHl TRHRAT YRl Sl Hd.

Hardl HIY:
. I4d XdR sl "rdrd.
|| T XA JIHYE TSl HUdl.

Statement:

Channel X is against the present government. They always encourage debates on government policies,
their news always criticise the policies of the government.

Course of actions:

|. Channel X should be banned.

ll. Channel X is should be charged with sedation.

= -
Sl

X ~izas e gy (S Ol eun S P Aia s (S S g pasadly e Sa a0y o DA S e Sa 02 g3 ge Jia
5 Ty Osmadl e Sa

ae a3y
X - mile i B gaidy s Jia
| Iy (PNY PO TR L 3 PPET PRRTRY LV

A | 3EEA 3T
A.Only | follows

A.<ipa| 8 5 &Y

B.Whad || S8R0 Hd 3T
B.Only |l follows

B.wijall 8 5 &Y

C.UHR | fdhd 11 3FHEA 3R

C.Either | or |l follows
C.lUll A8 5 SV e

D.| f&an 1| SEU®! HIdlel STE0 Hd ATal

D.Neither | nor || follows
Dol us 1 8 5 0sd SY o i5S i Use

Answer; D.| f&dl | Q10D HIElg! STERI Hd el

D.Neither | nor |l follows
D.I sl .‘S,guﬂﬁ,ﬁv,eus,s,__mw



125 Qut of the given options, choose the one which is the correct passive voice of the sentence given below.
Will you accept the position?

A.Will the position be accepted by you?
B.Can the position be accepting by you?
C.Should the position be accepted with you?

D.Have the position been accepted by you?

Answer. A.WIill the position be accepted by you?

126 gl 3BR YRGB 1GIad dleUk U= Jgd fagdn 3ime.

IS when concentration of a substance increases along the food chain.

e A5 s S (e 35 S S ol e S a o ligr i

A S Rt

A.Bio magnification

A S8 5l

B.HI®
B.Adulteration

B.od A3
C.oid N

C.Bio adulteration
C.oxa A3 5

D aidU! Udha! Aol

D.None of the above
D.us P58 g

Answer: ASId ﬁiﬂ?ﬁm

A.Bio magnification

A S gl



127

ga1: 31Yqu u=de (A sRuagrndl, @l feeedt (P), (Q) (R), (S) 3101 (T) 81 U a1 IRy 3shHM
JARIA] BR1; iR Gleiid Uyl IR 1.

P. ASAMHIMTIA! TTed GUATd 3M14H &d IdR DleglF AT SidgH ¢ugrd! fa-dt de.
Q. TMediaR didl HesfacaHar Rig dicgnaal 3ol ARG 310l GrYiAR] Wi eTbdl.

R. TTed 10l Bicel & Gd 13 Udh1 STdrd 3id MYTITETa! STdTd.

S. 7 RigTeRIsR Picg! 34 SIUSUl Medidl BHdd sl JdId Usdrd.

T. STdTd SITdHT, diFT @& S ugre] 3(98H dred [Rig 31sdl I,

TR HAHR JAadd! HIvd d1ad Ufgd 31-d?

DIRECTION: Rearrange the following five sentences (P), (Q), (R), (S) and (T) in the proper sequence to
form a meaningful paragraph; then answer the questions given below them.

P. The cunning fox promises the lion that he can have the ass for dinner, but asks that his life be
spared.

Q. As soon as the ass was secured, the lion jumps at the fox, killing it for its meat and ends up having
both.

R. Two partners, the ass and the fox, go to a forest to find food.
S. So, together the lion and the fox trick the ass and make him fall into a pit.

T. On their way to the forest, they meet a lion who wishes to eat both.

Which of the following should be the FIRST sentence after rearrangement?

Uslea 6 o il (P)e (Q)« (R)«(S) st (T) sl B 25 s Sanaifojlign A S e e by S
e S

P. o235 ol OS¢ IS S jad 55 (SWSaey s jud 5 (65a 4 a1,

L le S g el lgle ) Sci 8 s o g 5ad s ol S saa ul G
R. 8 3 S S5 AT U Uie (Ko ¢ 50 g) Lyl 2 ey g,
S. LS el S oS LS L5l (Sdla (S s S aa S Ss3ed ) ks
T. 68 s LS oS gign ) g Da ud SO oS0l ey _Sla S,

o ln doddale S S _socw el

A.R
A.R
A.R

B.Q
B.Q
B.Q

C.S
C.S
C.S

D.T
D.T
D.T



Answer: AR
AR
AR

128 feciell Sqareacd : fag — 3101 +, G99 3frhs 8 MO 15; TR 15 + 4 — 8 d H™ fohddl 2

Given interchanges: signs — and +, and numbers 8 and 15; then the value of 15+ 4 - 8 is

3 aai S8 —4 + 15 5615 Hg) 8 jrad jy) ¢+ ol - claDe ;s K

A4
A.4
A4

B.6

B.6
B.6

C.19
C.19
C.19

D.2
D.2
D.2

Answer. C.19
C.19
C.19

129 Choose the word which is opposite in meaning to the given word.
ALIEN

A.Native
B.Foreign
C.Overseas

D.Unfamiliar

Answer: A_Native



130 a1 Widiia ugiAe fede uaiaimyE deftd sier/Rrsa™he FAasr.
JHESG B

DIRECTIONS: In the following question, select the related letter/word/number from the given
alternatives.

Apple :Fruit ::
S adie puaflilfci ja Adleie _wdolie K (e g 03 pa ke 1

a5 tl 1!#
tkf- e -

ASIS]: g
A.Shoe : Lace
A.~d: Usa

B e - T

B.Teacher : Class
B.os3S 7 2l

CHH : IR
C.Neck : Collar
C.S: s

D.feTell: Bd
D.Lily: Flower

D.dse i A

Answer: D .ferel: had
D.Lily: Flower

D.dse i A

131 HETAT 1 Yl [Avgrdf eg HIvrdl 2

A&%
B.HEHHTE

C.HgIIoy
D HI31

Answer: A.&%



132 SR '+’ T HY IONRR AR, X' AET HY AETGR 38, -’ qrEr A a8 Hig A/ 7 grEr
HY TATERI HIG, aX Wrellel THIGONT 3o ST HR?

If '+ stands for multiplication, 'x’ stands for division, -’ stands for addition and '+
stands for subtraction, what is the answer for the following equation?

&‘J.I"""n _J-'-_“_H Cﬁ"‘j _HJJ_: ‘J:‘ _H ,..iLiﬂ ,I:TE ‘S j:-'_ﬁ ' JJ" i‘H g:ld ,a:l‘j is h.m '-' 4._’,:." ,:'_i.d 'I;:'r'j '.S .M-r i .x- “J:’ {‘i‘ ’;:1'5 ]'S - i'"ﬂ‘ ! -)gll
Wyl LK

20-5+18x(3+2) =7
A. 20
B. 18
C. 108

D. 22

Answer: D. 22

133 Out of the given options, choose the most appropriate one to fill in the blank.
A crow a piece of cheese.

A.stole
B.have steal
C.have stole

D.has steal

Answer: A.stole

134 AI31 Urd WHIGARISe] 3R UHRe! MSQudrd Adid

Big five personality traits also known

2 Ula B g L o Gl oS Cilia puad (Siluadd (65 il

AU Yedig AfddHd

A.five factor personality
A. said jualic zi



B.UTE T Ud fgdaw

B.five famous personality

& . B = ol
T LY '
B. el ) spiie il

C.UTd 9 A

C.five factor model
C.l jaic Zi

D.9cHhd [Aeyu
D.factor analysis
D. ~3ai S saie

Answer: C.Ud Y —HAI
C.five factor model

C.JM juaic il

135 A FS §IC R B WU ‘T3l 3113 & A1 3159l 9did de dalvl 31g.”. A 9 B Hiad A1d S 3MT8?

Pointing towards A, B said “Your mother is the youngest sister of my mother". How is A related to B?

A SSebash SiB ooneseSdasomdea SIS S ABB NG LS

A DIP]

A.Uncle
Al

B.dcld HI%
B.Cousin
B.ol) laa

C.Ydugi
C.Nephew

C.las

Ddaid
D.Father
D.L

Answer: B.ddd HI%

B.Cousin
B.al)laa

T

136 ' Hdll HIos] 981 Whdl 3Ts.. ’ Il diddIdld A2y 3.

A.HdAl



B.P[A]

C .8l
DAUINE]

Answer: B.®[A]

137 Wraiaud! Wiferlt Weg 3fawl.
ATSH
B. Il
C. g0
D ddd Id

Answer: D.3d 94

198 T Wiellel YeaAld U 3ESerell BRAT SRATden 36, 3TRedl YA FIoar 90 o AT

Fregrear favgy arsgen A

DIRECTIONS: In the following question an unfolded dice i1s given. From the given alternatives which
of the followmmg will be opposite of o ?

o L5 sg e 088 cw s wYolis 288 255 - = W8 Lo a5 lgs WS KUl ae Jloaw i3 57 i tsbela®

A. 2

B.3

C.1

B

Answer: C.1



139 3 a9 11 AR 43 g 31for 15 9 20 AT 30 Yo il SIS B

Add 3 hour 11 minute 43 second and 15 hour 20 minute 30 second?

3 s S 38w 30 Sk 20 A 15 5 38 43 Suie 11 2k

A.16 dr9 31 fafAe 13 9dc

A.16 hour 31 minute 13 seconds
A.16 18 13 e 31 368

B.14 a9 21 faf4¢ 73 &<

B.14 hour 21 minute 73 seconds
B.14 35 73 S 21 538

C.18 di¥9 32 [AfA¢ 13 A<

C.18 hour 32 minute 13 seconds
C.18 3% 13 & 32 538

D.18 d19 31 fAA¢ 73 &<

D.18 hour 31 minute 43 seconds
D.18 35 73 Suie 31 &3S

Answer: C.18 d¥ 32 fafAe 13 A<
C.18 hour 32 minute 13 seconds
C.18 18 us 13 Euie 32 338

140 R Bl I AT 318

Harare is the capital of -

=l e gl

A fSraTed

A.Zimbabwe
A.S 2 )

B.ISI
B.Uganda
B.S 135,

C.aHIR™Al

C.Tunisia
C.oS Luisi of



D 3G

D.Vanuatu
D..S 555

Answer: INELSIC

A.Zimbabwe
A.S 2 sl

141 &IF ST TUNTR 4:5 318 101 i AH1dl 8 1. TR Jidl a9d! HIgr?
The ratio of two numbers is 4:5 and their HCF is 8. Then their LCM is?

?d‘éﬁlwd:‘lédl_ﬂﬁ*daurﬂw““@lé&l JJ‘g‘4:5 i 1S (g el g

A.130
A.130
A.130

B.140
B.140
B.140

C.150
C.150
C.150

D.160
D.160
D.160

Answer: D.160
D.160
D.160

142 81 gard1 ufga Ri&e 3l

IS a first teacher for a child

= pdee Sy A S U

A3

A.Mother
A.Qw



B.fadT

B.Father
B.u

C.XITe5d Ufgdn fRigd

C.First teacher in school
C.alee 22 IS J Sl

D 3{TSH- TSI

D.Grand parents
D.gala lala

Answer: A.&fﬁ
A.Mother
A.L =

143 faa=ar 3feser JAue Rl T&AT 1T HR?
What is the number missing from the third target”’
oS ol 8 S, b, g
6

4 5
1(103 2(1?4 3@5
2
A. 18
B. 45

C.35

D63

Answer: A.18

144 Y1 Wieita UHiEe e garaimy defed ser/rsae FAast.
Yyt ; fOrd : ; SiaRRd ; 2

DIRECTIONS: In the following question, select the related letter/word/number from the given
alternatives.

Geometry : Maths : : Biology : ?

IR NP\ PY CR3 e EE BB PN



AT

A.Geography
A8 i

B.dd+

B.Behaviour
B. 35

c.fasm=

C.Science
C.o

MEVE]

D.English
D.cs )5

Answer: CﬁEIFI

C.Science
C.oxl

145 b =Y ol
8451 + 793 + 620 -7 = 6065 + 713

Simplify:
8451 + 793 + 620 — ? = 6065 + 713

U ol
8451 + 793 + 620 - 7 = 6065 + 713

A.4912
A.4912
A.4912

B.4712
B.4712
B.4712

C.4312
C.4312
C.4312

D Tid! HIvdg! ATl

D.None of these.
D. O 255 == uze .

Answer: D.Tiud] qﬂUlaﬁl :IT6°I

D.None of these.
D. 0 S e U O,



146

Answer:

147

Answer:

'OBSTETRICIAN' U WTidl eGP PV e ddR Hdl WS Adhd Aleld?
Which of the following words cannot be formed from 'OBSTETRICIAN'?

Lt oS s (e Uil U5~ paia 'OBSTETRICIAN' € o ks U (i

A.SOBER
A.SOBER
A.SOBER

B.TERMITE
B.TERMITE
B.TERMITE

C.RETAIN
C.RETAIN
C.RETAIN

D.SIREN
D.SIREN
D.SIREN

B.TERMITE
B.TERMITE
B.TERMITE

G LG died HIUG ?

A STHAT MTaTd diS 3{Tell Tegl.

B.URd I Jd YR el 3.
C.feaarn U I€eR g 3HHHS are.
D.Udh[ HIUTd Gailoides 313 THUR 373,

D. U [ HIUTd eiloides 313 THUIR 379,



148

Answer:

149

G HisT A 30T B Aed g8 {101 grvara fAyor 31g. ufgedn Hisaraed (U A Higa|e g8 {11 grvamra
TUIRR 8 : 3 3T 30N gH=U1 HISUTHY 1gUISl B HISUTHEA g8 1101 UTUgTE TUIRR 5 : 1 3T, g8 HT0I
UT0gTd TUNTR 4 : 1 BIVAIA! A1 &IH HigdiHeH 35 feic &HdT e His R d. 7 "A" HisameyA fobdl
ferer 9dd SIre g4

Two vessels A and B contain a mixture of Milk and Water. In the first vessel (i.e) Vessel A has the ratio
of milk to water is 8 : 3 and in the second vessel, Vessel B has the ratio of milk to wateris 5: 1. A

35 litre capacity vessel is filled from these two vessels so as to contain a mixture of Milk and water in
ratio of 4 : 1. Then how many litres should be taken from the Vessel “A”.

G ALy BUn(ein) Or deondaide Sy S Js j5ladgm Ap juy oyl 2318 udiilSang 5y (Jh e
FrB S G )5l 8250 2SS sl e 0 0 0580 s OV W U8 (S A1 35 10 5 el S a0 (e (e
ERPE PN NG PP WL/ ST

A.11 fdl.
A11L
A.11 Al

B.12 fdal.
B.12 L
B.12

cofa.
CoL

C.9

D.10 fe1.
D.10L

D.10 Al

A.11 Tel.
A11L

A.11 Al

AP (S ac ) AT NS (FSSFT®) Usdl — Ad HfUH1ied IR |rdrd

Inductive and deductive methods are popularly used in—

2 e —om JlanidtS g 1 AT, 0 .

A TTIOrd fRreaul
A.Math’s teaching

A-M S =)
B.YRd f¥rqut

B.Science teaching
Bl (S il



C.ATHI RrHaul

C.Grammar teaching

C.plai (S ol 8
D.adld §d
D.All the above
D.plade 553
Answer: D.a%id Td
D.All the above
D.slai s Sha
150 (6X6X6)+(2X2X2) Lk
(6x6)-(6x2)+(2x2)
A.5
B.6
G. 7
D.8
Answer: D.8
151 Out of the given options which best expresses the meaning of the given Proverb?

A rolling stone gathers no moss.

A.People who are always moving, with no roots in one place or another, avoid responsibilities and cares

B.A person who always travels and has no fixed abode is always eager to accept the responsibility of
others

C.A person who always travels and has no fixed abode is always ready to provide shelter to anybody
and everybody

D.None of the above

Answer: A.People who are always moving, with no roots in one place or another, avoid responsibilities and cares

152 Choose the word which is most similar in meaning to the given word.
RELEVANT



Answer:

153

A.Applicable
B.Unconnected
C.Unrelated

D.Inapplicable

A.Applicable

GIA1: WIdid Alfed! diuiigde arar o) Jieltd Ui I :

P.Q, R, S, T,V 3 W Gy I1d IgHIil 3ed. Ai=drd diF faendf, g4 Riers 3nfor g3 ggantt sigd.
d dIF 9TTaTTe] TeTHE HTH HIATd- |, 1 SI70T 111, Udd TTerd U faendt sfor fam v e fdhar ta
geartt e, s g1 faendf 3 3nfor dt P Jied 1-T1 7TeTd 38, P 81 Tgarit 31, | &1 TTeTd dhacs T STl
O] gganrtt 31me. v 81 faendf Q Siad ™ Hdl, Sl W Iidd $1H Hd ATel. fR1&d W, R Jiad $1H Hd

el
R Glol RIS 1791 TTeTd RIMFidd $d Id a3, DI Terd W HTH HIda?

DIRECTIONS: Study the following information carefully and answer the questions given below:

P,Q, R, S, T, Vand W are seven participants in a seminar. There are three students, two Lecturers and
two assistants among them. They work in three different groups |, Il and Ill. In each group there is one
student and at least one Lecturer or one assistant. S is a student and is in group Ill with P, an assistant.
The other assistant is in group | with only T. V, a student works with Q who does not work with W.
Lecturer W does not work with R.

If both Lecturers are transferred in group |, then in which group does W work?

ol Sudlae B o a4l gl —u gaas S Slaglae dD s jaie il

Pe Qi Re Se Te V sl Wiline (8o 5. m (iglea 52 55l poaSd s cale b 5w ne O - oS 50 Sl (el SO
GBS 1l ol Eaos Ostas Sl L a8 ST oS oS gl ale Gl SOl (ae 09 8 g S S S e § g ple Al S
G B o P e P s A oslealyup . agitea Sy soc gt S| Gipa g T oefu SVeade Qe oSyl Q 8ls S
2 = USASW s, U S oSl SWER - U S uialS lu S

G B U0aSd Usie SN ey 58 euila 0 S Jitie e WO UGS 6IS (e iy 8 S

A.HISD ||
A.Only I
A i ya |

B.$da |l
B.Only Il

B.< =l

C.Il f&ar i
C.Il or Il
Cll 1l

D gitd! HIvrdie! Argl

D.None of these
D.ud 58 U U




Answer: D .giU®! HIUIBl Aol

D.None of these
D.uad PS8 s e O

154 AT T e Afdadd 3

For a Layman personality of a person is

S Cuadd (e Jld S el Gle S

AT IRING T3

A.His physical appearance
A b Jasa S ol (appearance)- =

B. T gl TR

B.His intelligence level
B.- = s gl S ild (S U

C .= d9d1 3
C.His colour of skin
C.-= 8, (S 2 5 S

D.(a), (b) 30T (c)
D.(a), (b) & (c)
D.acb _sl ¢ st

Answer: A IRING BT

A.His physical appearance
A s Jews S 4l (appearance)- —

155 g1 Wi uyine fedean yaiaimey= Jefed fer/Rrsc/&ws Hasr.
HYHTRT : GI5 : : °IST

DIRECTIONS: In the following question, select the related letter/word/number from the given
alternatives.

Bee : Hive : : Horse : 7

-J‘)S -._1:..lu JJAJ.I:H]/'-—‘JA AMCNJJ1_‘11 Ll*ﬁ r"';*:ﬁ (e JIJ.u:. J:*_‘* ,-._*n..JL.n " laus

115565 1 e teSa (S



A Y
A.House

A. &

B.H/ ¢dd
B.Table
B.

C dadl
C.Stable

C.lihal

D ER¢

D.Nest
D.ALsi 58

Answer: C.dddl
C.Stable
C.diaal

156 e Erddiats! Ude Uyrd, Hifcibaticl UTh SBA1 ghid! 3Te. Ihidl AT M.
2,3,9,27, 112, 565, 3396

DIRECTION: In each of the following questions, one number is wrong in the series. Find out the wrong
number.

2,3,9, 27,112, 565, 3396
298 Spmihle ol okl 5 S0 e g gyl

2,3,9, 27, 112, 565, 3396

A.565
A.565
A.565

B.9
B.9

B.9

G112
G. 112
C.112

D.27
D.27
D.27



Answer: B.9
B.9
B.9

157 Qi FHIPRUE Hl DIaT:
2143.120 + 1629.01 - 1863.0021 - 218.1008 = ?
Find the value of following expression:

2143.120 + 1629.01 — 1863.0021 — 218.1008 = ?
S pslea Sl (S Ol gl 3 7

2143.120 + 1629.01 — 1863.0021 - 218.1008= ?

A.4261.6211000000003
A.4261.6211000000003
A.4261.6211000000003

B.1521.0119999999999
B.1521.0119999999999
B.1521.0119999999999

C.1691.0271
C.1691.0271
C.1691.0271

D.1844.2861
D.1844.2861
D.1844.2861

Answer: C.1691.0271
C.1691.0271
C.1691.0271

158 fedear yafaite! 9mss d Rasr:

Select the odd one out from the given options:

S Al S .‘JJ“c’c"“u&‘ <l sl :‘S .



Answer:

159

Answer:

C.@c

C.Plate
C.cul:

D drs7

D.Bowl
D.AL

B.2IUdl
B.Basket

B.sSs

AP [Sars" gl YxddId T@d I 3gd?
Who is the author of the book “Life Divine™?

st e S 110 8 Y A

A.3fAHgATY TR
A.Abanindranath Tagore

A S8 &l

B. &WTH! [dd®THg

B.Swami Vivekananda
B.atlso g ol g

C.3Rfdgl Uiy
C.Aurobindo Ghosh

C.ubseS 5auy )
D. g HIoft A8l

D.None of these
D.ux &5 = e

C.3Ridel Uiy
C.Aurobindo Ghosh

C.hseS 5 auy )



b HIAT. AT WA Sealdiel GAEAaT S0l TART HTHFdatd TIATES HHd! HaHd Hg?

DIRECTIONS: In the given question find the answer figure in which question figure 15 embedded.

- . - - % Aysi* & - ' 3 T e

- -

4] F3&k TS

B i < 3 B

A. 1
B.2
C.3

D. 4

Answer. A.1

161 3T Wit Usaid! STl Usqd IAMTTIR HiSU .
(1) Spruce
(2) Spume
(3) Spree
(4) Spurt
(5) Sprawl

DIRECTIONS: Arrange the following words according to the English dictionary.
(1) Spruce

(2) Spume

(3) Spree

(4) Spurt

(5) Sprawl

S e oS B ) aa jaie (Billae S Sl g S0yl

Spruce (1)
Spume (2)
Spree (3)
Spurt (4)
Sprawl(5)

AS, 31,2, 4
A5, 31,2, 4
AS5,3,1,2, 4



Answer:

162

Answer:

B)M,2,3.4,5
B.1,2,3,4,5
B1,2,3,4,5

03,0144
C3,5 1,4,2
C3,5 1,42

D5, 4,32, 1
RS, 4, 3,2, 1
D5 4, 3 2,1

A5, ,3,1,2, 4
Ab5, 3, 1,24
Ab5, 3,1,2 4

faenfi-Hid uga wue—

Pupil-centred method means—

S olhe i€ G5k e 1w S je S 2 S

A fagmdi-Sdta Riequar ggd

A.Pupil-oriented teaching method
A.pu 8 A sh e gz O sameal (S 2 S

B.91d-99YH Ugd
B.Child-supportive method
B.~u b () slas Jubl

C.gdugHauul fRraul

C.Liberal learning
C. LS Ailal )|

D.add 9d

D.All of the above
D.alai s Sie

D.a3d 9d

D.All of the above
D.aled s Sha



163 UIugTcld UTof Ir=d |IgTrAE 4 9did

Aquatic animals breathe with the help of _

Ui i el s 2ae (S Lsosa o

ADTHH

A.Lungs
A.c Senes

B.dd
B.Gills

B.. 5K

C.Hl®

C.Nose
C. 83

DS
D.Mouth
D. ~a

Answer: B.3dd
B.Gills

B.. 5

164 g1 fedean ggiaimeE Trar Wss Aasl.
SRR HdY HRR™ vl 3 51 SHcIdoRedl ddY . Hidd 3g.
DIRECTIONS: Choose the analogous word from the given alternatives.

Anesthesiologist is to Administration of anesthesia as Dermatologist is to _

ﬁ_}s h_!h:l.ll 15 Lﬂl LB:TLL.‘ Cu.\ l_ljl :11 L“ﬁ 1 :L"ﬂ._jl_'l::

—t

.ﬁj‘mé-“--uis;;m;.‘,]ﬂqﬁdh%ﬁﬂc_j@mﬂ mldﬁ‘_ﬁ;m,&mﬁj@gl

A.gad
A Heart

A. J

B.d8M 4d
B.Children

B. U

For More Info And Videos About TAIT-Exam Syllabua And Other Exam Vlsll My Channel
TAIT =1 30 Fqfaa PDF YouTTD) .YouTube.com / HAH
BADSHAHImp Available Request (3 9765226781 Sumni}e u,& Ch:mnel



Answer:

165

C.ddl

C.Skin
C.da

D Eyes
D. U5

C.cdd]

C.SKin
C. 1

AT WIell fecied UyTd Ue fadr 3iig Sard | 3107 11 319 g1 sk @rarel sifdd deial 3Migd. a1 SeR
Hafawqufaﬁaa

IGEIGE
Sl el Wd: AT WRIGH Th ded 3HThd HlgA Ad1H a9 9l bal. TS dredl gL JrATdid

wﬁmﬁnﬁmmﬁm&n@&mmmmag‘mﬁmwmmmm

s,
. Sitel 3ARPd 3.
|. Sildll Sy 3HTg.

DIRECTIONS: The question below has a statement followed by two conclusions numbered | and Il.
Based on this choose the option that is most suitable.

Statement:
Joby launched Market Lane from a small office in his own apartment. Today the success has sparked
his charitable side and he has given over USD 200 million to nhumerous causes.

Conclusions:
|. Joby is from the USA.
Il. Joby is a miser.

S g2 2y S Gl Sl gra I B n pawi il |l 1] - S AN Gl ()9 e U 5 ol (S il g B

Ol

JslUn S Slal Gl dl e rand o dS 21 LS Sl S Gl Sl jle e s Ssea SOl e S0 3l S
U = M3 Sl ke 200 3 s ke g e (S Sl

l. = o el G5 S g
Il. = S 25>



Answer:

166

Answer:

A.Hda ApY HHIS | AU 38T 318

A.Only Conclusion | follows
Araiichpual 8 5 SY

B.$de [AshY HHi® || f[AyHr 38E 3018
B.Only Conclusions |l follows
B. caiiiCiua |18 5 SY

C.fised wHis | fdhar 1| SEEA 318

C.Either | or || follows
C.lUll 8 5 SY S s e

D.®IUdTe! FshY HE ATgl

D.Neither | nor |l follow
D. 1 s Il 8 s Y e S e

D FIUdTe! [FShY S8 el

D.Neither | nor |l follow
Dl ust 18 5 Und SY e S e ae

a1 ST YIS axqdl valfud ciiet ufaar — urfgedl 9rd
The article’s image projected through overhead-projector is seen—

= D (A5 ageal (S S 03 S gy _aa ) S ey i du

A . THI] HIATER
A.On the head of the speaker

A S Sl

B. &A1 /1T 101 AR SToar
B.On the head and backside of the speaker

B.): s s o) oue S Sl
C.USYIaR W1 H1yT HIor A dToar

C.On the head and backside of the speaker on a screen
C. s ez oyl e S Sl 2 S

D alieiU®] Hlvrds! el

D.None of the above
D.us 255 == e sl

C.USYTaR WIHAT HI1YT 3101 AR dT9a”

C.On the head and backside of the speaker on a screen
C.i o ey oyl e S Squl s 0 S



167

ga1: 31Yqu u=de (A sRuagrndl, @l feeedt (P), (Q) (R), (S) 3101 (T) 81 U a1 IRy 3shHM
JARIA] BR1; iR Gleiid Uyl IR 1.

P. ASAMHIMTIA! TTed GUATd 3M14H &d IdR DleglF AT SidgH ¢ugrd! fa-dt de.
Q. TMediaR didl HesfacaHar Rig dicgnaal 3ol ARG 310l GrYiAR] Wi eTbdl.

R. TTed 10l Bicel & Gd 13 Udh1 STdrd 3id MYTITETa! STdTd.

S. 7 RigTeRIsR Picg! 3 SIUSUl Medidl Bidd Udh] Jedid Usdld.

T. STdTd SITdHT, diFT @& S ugre] 3(98H dred [Rig 31sdl I,

IR SAHGR Ddiadd! DIvd aIdd 1Y 3-d?

DIRECTION: Rearrange the following five sentences (P), (Q), (R), (S) and (T) in the proper sequence to
form a meaningful paragraph; then answer the questions given below them.

P. The cunning fox promises the lion that he can have the ass for dinner, but asks that his life be
spared.

Q. As soon as the ass was secured, the lion jumps at the fox, killing it for its meat and ends up having
both.

R. Two partners, the ass and the fox, go to a forest to find food.

S. So, together the lion and the fox trick the ass and make him fall into a pit.

T. On their way to the forest, they meet a lion who wishes to eat both.

Which of the following should be the FOURTH sentence after rearrangement?

usles b ol (P)e (Q)¢ (R)¢ (S) s (T) Lsllsne 8 £ 5 a5 Here iann i oy A S s Jea b S
R S

P22 3sen ol OS¢ LS S i 55 SWSexcy il 35ad (2,

Q. 1 e S s 0yl ke A Sl S s (o s5as) Jad e S s il o,
R. B A S S35a3US gse fia ¢ 5030 Hyl ppdcuags g

S. el S S JBEB ) (Sda S sl S jaa S S5ed ol sk s
T 8 s LS S 5ign o) g De ad ) oS00y Sla S,

?d1%u£iéﬂ4hg‘ud_,s:.:_jL“:L?_j‘!i*‘xﬁn_jbjdI

A.S
A.S

A.S

B.P
B.P
B.P

CR
C.R
C.R

D.T
D.T
D.T



Answer: A.S
A.S
A.S

168 feaRIYTd 31 R4 3! IPhial f[Ayr 3ol

A false belief held despite strong evidence against it

O3~ O3S Sathbguae o S Gy Sl e o Ja o e300 Skl

A JTHIE
A.Hallucination
A~ 5

B.4H

B.Delusion
B Llls.

C.Ad BTl

C.A to B both
C.a usb usis

D.SIUIeR f$93iTeR (feydia fdar)
D.Bipolar disorder

D.2 s (thd o

Answer: B.YH

B.Delusion
B. s

169 413x40%x18 = ?
413x40x18 = ?

413%x40x18 = ?

A.297306
A.297306
A.297306

B.273960
B.273960
B.273960



C.297360
C.297360
C.297360

D.293760
D.293760
D.293760

Answer: C.297360
C.297360
C.297360

170 ST Wit U qul Hifelds A, Blol 3R IS 3gd, of Wil feaedl 9aiai A Udhl HHM Gadl
3fTed. a7 ggig fAgsr.

cccbb - aa - cc - bbbaa - ¢

DIRECTION: In each of the following letter series, some of the letters are missing, which are given in
that order as one of the alternatives below it. Choose the correct alternative.

cccbb -aa-cc-bbbaa-c
i3 N pas e SRR By g eall e gaS gl S a2 i Culy

cccbb - aa-cc-bbbaa-c

A.acbc
A.acbc
A.acbc

B.baca
B.baca
B.baca

C.baba

C.baba
C.baba

D.acba
D.acba
D.acba

Answer: B.baca
B.baca
B.baca



171 DIRECTIONS: A sentence with an underlined word is given below. Find the Word which is most similar
in meaning to the underlined word.
She was completely_baffled by his strange behaviour.

A.Confused
B.Assured

C.Convinced

D.Peaceful

Answer: A.Confused

172 Todd dlg—

The rusting of iron—

Sy S =

A 9o Ucdd

A.Decreases its weight
A= 68 S5y S

B. 1 99 dlgdd

B.Increases its weight
B. = w3 S ooy S o

C.gHM EId

C.Remains same
C.2%, e

D.FiTTd1 Ad ATl (3iSTS H Araugrang)
D.Can’t say (unpredictable)

DA iy L) s meS (s 25)

Answer: B. AT 99 dlgdd

B.Increases its weight
B.= i 3 S¢S o
173 Out of the given four words only one is not spelt correctly. Find the word that is not correctly spelt.

A.Florescant

B.Fourth



C.Frantically

D.February

Answer: A.Florescant

174 B $g 39 [Aigd &d 9a:

The incentre of a triangle is determined by the:

5115‘&%15@_,5)‘3&;4105&}1‘*

AHY
A.Medians
A. sl

B. &M gHIGI®
B.Angle bisector

B sl ) cisaii i

C.dd gHIN P
C.Perpendicular bisectors
C.—aual .L‘,Jn'a (S gac

D.3dl

D.Altitudes
D. bl

Answer: B. &M gUNS

B.Angle bisector
B.Hj‘j il das

175 fedicar yafaite! 97ss d fRasr:

Select the odd one out from the given options:

Ui )S dlie S Sea el jlial K






176

Y1 G faum 3fr IR IR [sey, 1, 11, 11 3nfor v i&a 3ied. g faur™ Jmraa: J1d agiydioean =
3 cl a1 T 3Ted 319 o). feceadd! ivrdl ey fededr fAurias o] dedl 3% Idhdl § drel
XA 318 .dHd IR giad .

faem:

(a) 9d UR R¥ig 3imgd.

(b) PTal A" HR 3HTed.

BLa

Pel g a9 6.

|. 9d amy {37 3iied.

I, HTel ary g 3ea.

IV. §d AR 919 3{Ted.

DIRECTION: Two statements are given following by four conclusions, |, Il, Il and IV. You have to
consider that statements to be true, even if they seem to be at variance from commonly known facts.
You are to decide which of the given conclusions can definitely be drawn from the given statements.
Indicate your answer.

Statements:
(a) All peacocks are lions.
(b) Some tigers are peacocks.

Conclusion:

. Some lions are not tigers.
|. All tiger are lions.

ll. Some tigers are lions.
V. All peacocks are tigers.

JEMJQJJHMJ\%NS&MJJ:Q@%_ <l 1] |V~‘*_,.:n_,ug.ac_u5.‘*,-+_)gl idwhmJJMnJJSEJL
Ll | g S0 e Cubaliie a2 S LSRNl p el (U w (e gpada 8 SOl AS ) Cillae e (Blis o b
e SN s

Cla Jlehl:

i ) sa alal

U s S

o

Lo U s e eaS,
| = s s plal,

1l s ingaS:

V. 5‘(_—'&'& D eu.

A Haes ey ||| Al

A.Only conclusion Il follows
A. 2 J ] = G S cailas

B.$da Ashy v Fgdl

B.Only conclusion |V follows
B. mili G IV U S il



C.&dos fshy | fAud

C.Only conclusion | follows
C.z2% Ja| U S cled

D &aax sy || Agdl

D.Only conclusion |l follows
D. &% Ja = UGS el

Answer: A $da AsHY ||| FHEdl

A.Only conclusion Ill follows
A. 25 Ju ] o5 S cilas

177 vigl qHN Y TEIE Jd SiddHT SSWesd 318, 3 faemdi tsiHdauul Ardi 991 d 3H1gd. dR 3=
fRydia el dra Pl HIA?

When a child is stammering in your class, the students collectively make a mockery of him. What action
should you take in this case?

LS o 8 LS S e GOm0 S S 312 1S (il s sk eldial ale e g0 o BB e SO e 38 (S
e 54

e

A G UH AU fR1e S0

A.Giving collective punishment to the class
A_’{_'g_‘t I_}m L’.:.Laia.l _,S L_J.ujs

B.dFd-GINTaR RS GUl
B.Giving lecture on speech-defects
B.l o8 pgaiis S

C. 1 faenaie Jear <ol &t Ufasard SR HIoft Ireh 991 Fell, R deSdld d Tl Hooaul

C.Suggesting the student if anybody make a mockery in future, he immediately report it to him
Cicd sena gl (S ol 33 sk (gsh 55 51 (e e Jilaea (58 B1AS G o5t S ale

D faenaien fagiy Iu=R &

D.Giving therapeutic treatment to the student.
D.U S z3elS )i S ale

Answer: B.ddJd-GINTAR ARSI GUI

B.Giving lecture on speech-defects
B.lus JaSd s pailss S



178 5 feaaiarat 10 At 39 3. 1250 3M18. SR TEUE & da- § Algared] da-Tedl gUe 38d. @R 3.
1600 HHAUGETS! 8 feadiamd! fadl g=ui-l H1H Hd?

Wages of 10 women for 5 days is Rs. 1250. If daily wage of a man is twice that of a woman. How many
men must work for 8 days to earn Rs. 16007

10 S gl € . o Ky S ayie 639000 (S alias (S0 8 3 931250 6usrie SO0 5 (S usise
¢ S _S1600 8 5 5 LSS0 8

A5 &Y

A.5 men
A.5

B.8 Y

B.8 men
B.8~

C.4 &Y

C.4 men
C.4.

D.6 J&Y

D.6 men
D .6 <>

Answer: C.4YxY
C.4 men
C.4,)

173 o Tt weAd, REs TURiRYE Aaweay SRl s B

DIRECTIONS: In the question below. select the related figure from the given altematives

Problem Fagures

Ansu er Figure

A B C D



C. YO

D. (D)

Answer: D. (D)

180 HaaT. R gataimgE Aoft qof Fvond A s R

DIRECTIONS: Complete the senies by choosing nght figure from the given choices.

A. (A)
B. (B)
C. (C)

D. (D)

Answer: B. (B)

181 ' SHIYTAY * g1 sl Aelt iS4l

A ST + ¢g
B.3AY + T
C.3A1Y + AH[Eg

D. 3Ty + 3{Ield

Answer: D. 3y + HIclg



182

Answer:

183

6x2 + 77x + 121 = 0 1 IGHIHRUMH G5 38

The roots of the quadratic equation 6x% + 77x + 121 = 0 are:

6 S5y S &l s pajax?+ 77X + 121 = Opu

Al11,7
A11,7
A11,7

B.11, 11/6
BT TG
B.11, 11/6

C.-11,-11/6
C.-11,-11/6
C.-11,-11/6

oL U
Ly
u-—l—l
N NN

I
—_
A

I

C.-11,-11/6
C.-11,-11/6
C.-11,-11/6

A1 S g Q1Y DIV 318272
Who is the Chief Commander of all the three forces?

f 0SS Cin Sl gl g

AUl TH.
APM.

A. a5 335

BTl

B.President
B. ha

C. =& 13l
C.Defense Minister
C. g4 s

D T3 FHARI THE
D.Chief of the Army Staff.

D. <Gl u._r"JT' il —



Answer: B IS¢l

B.President
B. L

184 HHI (el 3/4 AT JdTell JHR desU& 2 IR SRkd ded arTdl. fadn 9= des $1e1?

Walking at 3/4 of her normal speed Shweta takes 2 hours more than the normal time. What is the
normal time?

LS iy pagae o (WBadl) T8 2 iy gagee iyl g Sla p 65 o S aa3/4 S )18 S Jsens
3

A4 did
A.4 hour

A4 s

B.5 dIH
B.5 hour

B.5 il

ced™
C.6 hour

C.6 =i

D.8 dIH
D.8 hour

D.8 s

Answer: C.6 dIH
C.6 hour

C.6 s



. I, W AT IeANTd TR ST GAR g AT gt Faa 32

DIRECTIONS: In the given question find the answer figure in which question figure 1s embedded.

P e = -
l {

(X)
(@) b a (@

A. (A)

B. (B)
C. (C)

D. (D)

Answer: B. (B)

186 S dd -

Yawning occurs —

syl Plaa

AIFIHE CO, =1 HfdRed Fgd digdds

A.Due to excess concentration of CO» in blood
AU 05a CO2 s mny S (pi i€ only) was S

B.pUHHMHA CO, A1 fdRad Hgd digdya

B.Due to excess concentration of CO; in lungs
B.ote U562 CO2 = ~a s S G TS anly) w2 S

C XFMH O, A1 AR Fgd diddqed
C.Due to excess concentration of O, in lungs
C.ute Usdenes 02 a5 (S O i€ ) s S

D A1 Tdhg! ATel

D.None of these



Answer: AIFIHA CO, =1 fdRe Fgd digdds

A.Due to excess concentration of CO, in blood
A.ua 0sn CO2 s mn g S (g yiaSoay ) wwas S

T AT Wreltel 9T IeRIciel GArarddhy HoTear gardt Hidhdld TeaTdier 3! Has(d 182

DIRECTIONS: In the given question find the answer figure in which question figure is embedded.

LS Lla> o juguai oS Jlgaw guo > oS Yl 65 pugaai Llly wls> ol 2w gue Jlsaw 288 2355 1ol

- =
(X) (A) (B) (€) (D)

A. (A)
B. (B)
06

D. (D)

Answer. D. (D)



188

Answer:

g1 Greitd Alfgd! PIuiigdd ardn o @rdid usidl SR 1:

P.Q. R, S, T,V 301 W TEHY 91d GeHI 3ed. @=and diF faenelf, 4 e 3nfor = ggantt sngd.
d o9 IaITe A HBIH HIAId- |, 1 3107 11, YD TTerd U fa=ndt sifor foam ve Riers fdhar ua
ggarit 3ire. S g1 fagmt 3mg 3for di P Tiad 11-91 7eTd 3iT8. P 81 Agaril 3118, | &1 7eTd Bddd T Il
O Feantt 3mg. v g1 faendf Q Hiad &m &xdl, St W Hied $H Id FTel. fR1e@ W, R diad &1H $d

e,
QAP BT Slald g RI&d Gdida?

DIRECTIONS: Study the following information carefully and answer the questions given below:

P,Q R, S, T, Vand W are seven participants in a seminar. There are three students, two Lecturers and
two assistants among them. They work in three different groups I, Il and Ill. In each group there is one
student and at least one Lecturer or one assistant. S is a student and is in group IIl with P, an assistant.
The other assistant is in group | with only T. V, a student works with Q who does not work with W.
Lecturer W does not work with R.

Which of the following pair expresses two Lecturers?

o s Sodllse 8 a5l g5 e s S Clagles 3 o il

Pe Q¢ Re S¢ Te V o) W aliae (5 o5 -0 Gtsbaa 53 ol oS 53 cale Gl (05w (e O - o858 Sl e Jlass SO
G S el Lsh Ml - stan S a8 Sl &S oS gl ale il S aa g S g S S8 (e S 2 ple Llla SO
G B 0 e P s S Gl | g . o Oslae S s 6 il Sl ipa g T o efa SV ale Qb S Q e S
U S AW joasd U S piaSile SWER . U S i alS il S

S S il oS Hasd 3 (5 e OS  Uza did A Hhie

A.PW
A.PW
A.PW

B.PQ

B.PQ
B.PQ

C.PR
C.PR
C.PR

D.QW
D.QW
D.QW

D.QW
D.QW
D.QW



189 T Wreitel 9210, fEeredn TaaiAYE ArddaYy HROTRT HTdhdr fAasr.
DIRECTIONS: In thequestion below, select the related figure from the given alternatives.
- g0 kiia yguaisglaia £ g o Yokis 258235 e Jlgas 28 Li> il
Question Figures Answer Figures

B E )%

A) @) (©) @D)

A. (A)
B. (B)
G

D. (D)

Answer: B. (B)

190 UHTHI31 GaAT: Wleita Hifeld! gul B,
1L2, 1M3, 1N4, ?
DIRECTION: Complete the following series.
1L2, 1M3, 1N4, ?

S daSa S 3o dod ma il S (e

1L2, TM3, 1N4, ?

A.105
A.105
A.105

B.2T0
B.2T0
B.2T0

C.105
C.105
C.105

D.1L2

D1L2
D.11L2



Answer:

191

Answer:

192

A.105
A.105
A.105

81 &IF fobar 3ifeies el Smalford Womelt 3(¥d.

are organized systems of two or more individuals

- atiais alate Jaidia ool il 235U g

A TS B0
A.Mob

A.p s

B.3Id

B.Audience
B. el

C.uH8
C.Group

C-*T*J.Jg
D.Tel

D.Crowd
D. 5%

C.u4q8
C.Group

C.os8

a1d [AHT B 3 31T &3 3T Jid

Child development is defined as a field of study that

S B S i (S (55 (S ad Ute e S nalllaa

A A4l AT d5d Sl

A.Examines change in human abilities
A S Ela S Y iy ) e il (S Gl

B SiId-IdhIa3TdlId dd-rd WPIHUl Sudrdl Udd Hudrd ddl

B.Seeks to explain behavior across life span
B. = USdh Cabliny S g 3bala S Graaia e o g5 S S5




Answer:

193

Answer:

194

C.qaidl We =i o Svard ad
C.Compares children to adults
C. =2 US ~ijlge gole S 5alL 1S 5o

D {1 B eTHD, HENS d JaR &HdA] 86D olU] Iabidididl dRUNMC 3MTe

D.Accounts for the gradual evolution of child's cognitive, social and the other capacities
D.us S8 Cluaa 8 ol )l o8 g pdi S il 50s 5y abeus o Sl S

D . HT= b D, IS 9 3R &HdIed] 8883 IVl Iabidld! RN 313

D.Accounts for the gradual evolution of child's cognitive, social and the other capacities
Dot S8 Claa 1S el )l pf g ol S il Kos ) (alass ¢ SI 0l S 2

Find the 5th term of the sequence: 6, 12, 24,.............

24 12 6% 2\Safieds Srimod ...,

A.92
A.92
A.92

B.96
B.96
B.96

C.98
C.98
C.98

D.52
D.52
D.52

B.96
B.96
B.96

USgHC Bl UTh— 3
'Edusat’ iIs a—

. — Sal el



A QN&0rs IuUe

A _Educational satellite
A SN adled

B.{dIdHD® JUde
B.Instructional satellite
B. i Al

C GIATHS dATH

C.Instructional technology
C.o> U8 Sl

D.JAIHD d18-

D.Instructional device
D A et kY

Answer: A efOrH IuUE
A.Educational satellite
A S8 adlad

195 1 fie<ine) yyy wyg gl fAsRa wel.

developed first group test of intelligence in Hindi.

by Cudl Gy 8 Dy 1S ld e gy

A Sl 5

A.Dr. Rice
Aol X3

B.3I. Y. UH. HighRH
B.Dr S.M. Mohsin

B_;}m:-.n H‘ u.u_‘ _1513

ORHNEIICE]

C.Mahalanobis
C.uz sVl

D.3[@hc §-¢
D.Alfred Benet
D. i 3 il

Answer: B.Sl. U9, UH. HighH
B.Dr S.M. Mohsin

B_L}n.u:.a 1’7}1 u.:.g‘ ‘;:'SL'S



196 IR diciall Ybe Tged, Yhedl dc Iged, scal pedald fged, Pealddl e feed, Il Jeadl gid! e,
W S U] SHsId b Jhdl?

If ball is called racket, racket is called bat, bat is called football, football is called shuttle and shuttle is
called hockey, we can play baseball with

ey pr e g8 I LS (S oS JB5 ) Jil S IS JU8 S L SCS SN I8ES S S L S aid 1S s S 18 S
o e dyS e 8

Apedid
A.Football
A.JS

B.TIcd
B.Shuttle

B.b

c.dc

C.Bat
C.u

D.gll
D.Hockey

D.Sb

Answer: Apcdid

A.Football
A.J.S

197 Jeld Sie%rss guf &1 . * el '

Answer: C.drsl

198 DIRECTIONS: A sentence with an underlined phrasal verb is given below. Out of the four options,
choose the one which can be substituted for the given phrasal Verb.

The army put down the rebellion.



A.suppressed
B.agitated
C.excited

D.aroused

Answer: A.suppressed

199
{aAL FAT (FEA) ! asararedr fGaw fhar fasgy R (Rameis aror gaifaah g
cargAToY) 90° FRRTae. fedear aR qardt Jrdcaiadia ST JTddr a1 Rfadear wdrear
Ingra gfafafica & 3me?

DIRECTIONS: When the key figure is rotated one step clockwise OR antidockwise (depending upon

the direction of arrosw shown), which of the Answer figures given will represent the main figurein the
rotated form?

.,s,.f)uum‘_..lluS'JlJUS';stLwm&JbJﬁh‘ﬁfww}muﬂSm:aUP

S Sl uSJL-' LagS Leo psi o1 O3S 2 o
@ ““"—" TR
A. (A)
B. (B)
C. (C)
D. (D)

Answer: D. (D)

200 Grcitadd! Y I DIvd ?

A g1 RaSU[@Td Al RIHd il
B.4T (HasSu[d el a1 Tiyd e,
C.q1 (Has U@ d Irel TIHd e,
D31 HaSU[dId I TRIHd FTell.






